Bid

A RESOLUTION ACCEPTING THE PROPOSALS OF DALLAS 1 CORPORATION IN THE AMOUNT OF \$5,655,470, RTD CONSTRUCTION, INC. IN THE AMOUNT OF \$4,710,072 AND KIMMINS CONTRACTING CORP. IN THE AMOUNT OF \$5,151,556 PERTAINING TO CONTRACT 21-C-00018; CITYWIDE METER, HYDRANT AND VALVE INSTALLATION AND REPLACEMENT - FY2021; AUTHORIZING THE EXECUTION OF THE CONTRACTS BY THE MAYOR OF THE CITY OF TAMPA; PROVIDING AN EFFECTIVE DATE.

WHEREAS, on May 11, 2021, the Mayor received bids, tabulation of such bids being hereto attached for informational purposes, for the construction of Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021, and recommends to this Council that the proposals of Dallas 1 Corporation, RTD Construction, Inc. and Kimmins Contracting Corp. be accepted, funds therefore being available in the appropriate account;

NOW, THEREFORE,

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF TAMPA, FLORIDA, THAT:

Section 1. The proposals of Dallas 1 Corporation in the amount of \$5,655,470, RTD Construction, Inc. in the total amount of \$4,710,072 and Kimmins Contracting Corp. in the amount of \$5,151,556 for construction of the Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021, in accordance with plans, specifications and other related contract documents prepared by the Contract Administration Department, is hereby approved and accepted; and the Contracts are hereby awarded to the said Contractors. For convenience, the contract with RTD Construction, Inc. shall be designated 21-C-18001, the contract with Kimmins Contracting Corp. shall be designated 21-C-18002 and the contract with Dallas 1 Corporation shall be designated 21-C-18003.

- Section 2. This Resolution, which is not part of the contract documents, authorizes the Mayor to execute and the City Clerk to attest and affix the official seal of the City of Tampa to the Contract for and on behalf of the City of Tampa.
- Section 3. Plans, specifications and contract documents for the construction of said Project, which documents are now on file in the office of the Contract Administration Department of the City of Tampa, are hereby approved in their entirety or in substantially similar form.
- Section 4. The Director of the Contract Administration Department is hereby authorized to issue, in written form only, work directive changes authorizing additions, deletions or revisions resulting from unforeseen conditions or emergencies, said directives to be incorporated in subsequently issued change orders approved by the City Council.
- Section 5. Any and all technical errors, informalities and irregularities in the proposal of the Contractor are hereby waived.
- Section 6. The bid security of the bidders shall be returned in accordance with the provisions of the contract documents for this project.
- Section 7. This resolution provides funding for citywide water meter, hydrant, and valve installation and replacement, in the amount of \$15,517,098, from various funds and shall be controlled by requisition for use by the Water Department as needed.

Section 8. Other proper officers of the City of Tampa are authorized to do all things necessary and proper in order to carry out and make effective the provisions of this Resolution, which shall take effect immediately upon its adoption.

PASSED AND ADOPTED BY THE CITY COUNCIL OF THE CITY OF TAMPA, FLORIDA ON JUL 1 5 2021.

CHAIRMAN/CHAIRMAN PRO-TEM, CITY COUNCIL

APPROVED AS TO LEGAL SUFFICIENCY BY:

ATTEST:

Marcella T. Hamilton, Assistant City Attorney

CHY CLERK CEPUTY CITY CLERK

*1% for Art: No

PW21-69452

0000149419-01

Tampa Bay Times Published Daily

STATE OF FLORIDA COUNTY OF Hillsborough

Before the undersigned authority personally appeared Jill Harrison who on outnesses that heighe is Legal Advertising Representative of the Tampa Bay I mes a daily newspaper printed in St. Petersburg, in Pinellas County, Florida; that the attached copy of advertisement, being a Legal Notice in the matter RE: 21-C-00018, was published in Tampa Bay Times: 3/24/21 in said newspaper in the issues of Baytink Hillsborough.

Affiant further says the said Tumpa Bay Times is a newspaper published in Hillsborough County. Florida and that the said newspaper has heretofore been continuously published in said Hillsborough County. Florida each day and has been entered as a second class mail matter at the post office in said Hillsborough County. Florida for a period of one year next preceding the first publication of the attached copy of advertisement, and affiant further says that he/she neither paid not promised any person, firm or corporation any discount, rebate, commission or refund for the purpose of securing this advertisement for publication in the said newspaper.

Signature Affinit

Swort to and subscribed before me this #03/24/2021

Signature of Notary Public

Personally known X or produced identification

Type of identification produced



City of Tampa
Bid 21-C-00018 Citywide Meter,
Hydrant and Valve Installation and
Replacement: Deadline 1:30 PM,
4/21/21. Download Bid from
DemandStar.com or
tampagov.net/contractadministration/programs/
construction-contract-bidding,
149419) 3/24/2021

}ss

City of Tampa BID TABULATION

Contract: 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement – FY2021 Bid Opening - May 11, 2021

Posted May 11, 2021 (Updated May 15, 2021)

CONTRACTOR	TOTAL BID AMOUNT
RTD Construction, Inc.	\$4,710,072.00
Kimmins Contracting Corp.	\$5,151,556.00
Dallas 1 Construction & Development	\$5,655,470.00

^{*} Arithmetic correction by Contract Administration

Notice of Intent to Award: Unless subsequently indicated otherwise, in a revised posting, the City of Tampa intends to award the referenced project to the lowest bidder listed in this tabulation. A bidder aggrieved by this decision may file a protest not later than 4:30 P.M., five (5) business days from the first posting hereof, pursuant to City of Tampa Code Chapter 2, Article V, Division 3, Section 2-282, Procurement Protest Procedures. Protests not conforming therewith shall not be reviewed.

Bids Received By: Jim Greiner

Jim Greiner, P.E.
City of Tampa - Contract Administration Department
306 E. Jackson Street - 4N
Tampa, FL 33602

Contract 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021



PROPOSAL

То	the Mayor and City Council of the City of Tampa, Florida:
Leg	gal Name of Bidder: RTD Construction, Inc.
Bid	Ider's Fictitious Name, if applicable: N/A
Bid	der is a/an: Individual Partnership* Joint Venture* LLC V Corp. Cother:
Bid	der is organized under the laws of: 🔽 State of Florida 🔲 Other:
Bid	der Mailing Address: P.O. Box 2439, Zephyrhills, FL 33539-2439
Bid	der's Federal Employee Identification No. (FEI/EIN): 59-3223426
Bid	der's License No.: CGC060736 & CUC057278 Bidder's FDOS (SUNBIZ) Doc. No.: P93000074511
Bid	der Contact Name**: Dannie E. Jordan Email: dj@rtdconstruction.com Phone: (813) 783-9119
Ch	Ider's own initial application for employment has criminal history screening practices similar in nature to the practices contained in apter 12, Article VI, City of Tampa Code (Responses, whether "Yes" or "No", are for informational purposes only and will not be used a basis of award or denial, nor as a basis for any protest): VYes No
	below named person, appearing before the undersigned authority and after being first duly sworn, for him/herself and on behalf of entity submitting this Proposal does hereby affirm and declare as follows:
(1)	He/She is of lawful age and is authorized to act on behalf of Bidder (the individual, partnership, corporation, entity, etc. submitting this Proposal) and that all statements made in this document are true and correct to the best of my knowledge.
(2)	If Bidder is operating under a fictitious name, Bidder has currently complied with any and all laws and procedures governing the operation of businesses under fictitious names in the State of Florida
(3)	No person or entity other than Bidder has any interest in this Proposal or in the Contract proposed to be entered into.
(4)	This Proposal is made without any understanding, agreement, or connection with any person or entity making Proposal for the same purposes, and is in all respects fair and without collusion or fraud.
(5)	Bidder is not in arrears to the City of Tampa, upon debt or contract, and is not a defaulter, as surety or otherwise, upon any obligation to the City of Tampa.
(6)	That no officer or employee or person whose salary is payable in whole or in part from the City Treasury is, shall be or become interested, directly or indirectly, as a contracting party, partner, stockholder, surety or otherwise, in this Proposal, or in the performance of the Contract, or in the supplies, materials, or equipment and work or labor to which it relates, or in any portion of the profits thereof.
(7)	Bidder has carefully examined and fully understands the Solicitation and has full knowledge of the scope, nature, and quality of the work to be performed; furthermore, Bidder has carefully examined the site of the work and that, from his own investigations, he has satisfied himself as to the nature and location of the work, the character, quality, and quantity of materials and the kinds and extent of equipment and other facilities needed for the performance of the work, the general and local conditions and all difficulties to be encountered, and all other items which may, in any way, affect the work or its performance.
(8)	Bidder (including its principals) I has I I has NOT been debarred or suspended from contracting with a public entity.
(9)	Bidder 🔀 has 🔲 has NOT implemented a drug-free workplace program that meets the requirements of Section 287.087, Florida Statutes.
(10)	Bidder has carefully examined and fully understands all the component parts of the Contract Documents and agrees Bidder will execute the Contract, provide the required Public Construction Bond, and will fully perform the work in strict accordance with the terms of the Contract and Contract Documents therein referred to for the following prices, to wit:
	f a Partnership or Joint Venture, attach Partnership or Joint Venture Agreement. Someone the City may contact with questions/correspondence_regarding this Solicitation and/or permits.

Computed 1	otal Price in Words: Four	Million Seven i	Hundred Ien . Iollars and	NO NO	cents.
Computed T	otal Price in Figures: \$_4,710				
Bidder ackn taken into ac	nowledges that the following add	enda have been received #2 #3 #4	and that the change #5 #6 #	es covered by the ac	idendum(s) have been
Bidder ackn	owledges the requirements of the	City of Tampa's Equal Bu	ısiness Opportunity P	rogram.	
together with included in t	owledges that it is aware of Floric h any involved subcontractors will the various items of this Proposal er identifies the costs and method	I comply with all applicable and the total bid price (as	trench safety standa	rds. Bidder further ac	knowledges that
	Trench Safety Measure (Description)	Unit of Measure (LF, SY)	Unit Quantity	Unit Cost	Extended Cost
A.	Sloping	LF	1,000	10.00	10,000.00
В	Trench Box		1,000	10.00	10,000.00
C			Total Cost: \$	20,000.00	
percent (5% forthwith due contract with Notice of Av	ing this Proposal is a certified che b) of the total amount of the Pre e and payable to the City, if this fe h and to furnish the required Publicard by the City so to do. ILURE TO COMPLETE THE ABO [SEAL]	oposal which check shall Proposal shall be accepted ic Construction Bond to the OVE MAY RESULT IN THE	become the properly by the City and the let e City within twenty (2) E PROPOSAL BEING dder: RTD Const	y of the City, or whi Bidder shall fail to ent 20) days after the date 3 DECLARED NON- FUCTION, INC.	ich bond shall become ter into a legally binding e of its receipt of written
	•	Authorized	Signature:	mois E/	prea
		Signer's Pri	inted Name Dannie	,	
		Signer's Tit	le: President		
STATE OF	Florida				
COUNTY O	F Pasco				
For an entity:	The forgoing instrument was presence or ☐ online nota by Dannie E. Jordan of RTD Construction☐ Other: N/A Identification. Type of Iden	rization, this 11th , Inc. , on behalf of such entity	day of <u>May</u> _as <u>President</u> , a/n □ Pa y. Such individual is	rtnership : Joint Ve Personally Know	21_, enture □ LLC√/Corp
For an individual	The forgoing instrument was presence or ☐ online nota By Produced Identification. Ty	rization, this	day of . Such i	, 202	21 ,
	[NOTARY SEAL]	Michael R. Stanaback NOTARY PUBLIC STATE OF FLORIDA Comm# GG117326	Notary Printe Commission	c, State of Florida ed Name:	ndroet

item No.	Description	Unit	Approx. Quantity	Unit Price in Words	Unit Price	Total Computed Price
	ENGINEER'S ESTIMATE					
2100	F&I 4" ductile iron pipe	LF	200	One Hundred Eight	\$ 108.00	\$ 21,600.00
2102	F&I 6" ductile iron pipe	LF	1,000	One Hundred Five	\$ 105.00	\$ 105,000.00
2104	F&I 8" ductile iron pipe	LF	500	One Hundred Thirteen	\$ 113.00	\$ 56,500.00
2105	F&I 10" ductile iron pipe	LF	100	One Hundred Thirty	\$ 130.00	\$ 13,000.00
2106	F&I 12" ductile iron pipe	LF	200	One Hundred Eighty Four	\$ 184.00	\$ 36,800.00
2108	F&I 16" ductile iron pipe	LF	200	Two Hundred Thirty Four	\$ 234.00	\$ 46,800.00
2149	F&I 2" PVC pipe and fittings at various depths	LF	500	Forty Six	\$ 46.00	\$ 23,000.00
2150	F&I 4" PVC pipe	LF	100	Eighty Five	\$ 85.00	\$ 8,500.00
2152	F&I 6" PVC pipe	LF	1,000	Ninety Two	\$ 92.00	\$ 92,000.00
2154	F&I 8" PVC pipe	LF	500	One Hundred Three	\$ 103.00	\$ 51,500.00
2156	F&I 12" PVC pipe	LF	100	One Hundred Seventy	\$ 170.00	\$ 17,000.00
2158	F&I 16" PVC pipe	LF	100	Two Hundred Thirty	\$ 230.00	\$ 23,000.00
2200	F&I 2" HDPE w/HDPE transitions adapters at various depths	LF	500	Forty One	\$ 41.00	\$ 20,500.00
2201	F&I 4" HDPE pipe by HDD at variuos depths	LF	100	Seventy Three	\$ 73.00	\$ 7,300.00
2202	F&I 6" HDPE pipe by HDD at variuos depths	LF	500	Seventy Two	\$ 72.00	\$ 36,000.00
2203	F&I 8" HDPE pipe by HDD at variuos depths	LF	100	One Hundred Eleven	\$ 111.00	\$ 11.100.00
2300	Furnish, install and remove 2-inch temporary service line	LF	200	Fifty Nine	\$ 59.00	\$ 11.800.00
2500	Removal of abandoned pipe 3" and smaller in diameter	LF	2	Ninety One	\$ 91.00	\$ 182.00
2501	Removal of abandoned pipe 4" - 10" in diameter	LF	2	One Hundred Twenty One	\$ 121.00	\$ 242.00
2600	Cut and plug 3" and smaller in diameter pipe, to include meter services lines	ΕA	300	Five Hundred Sixty Seven	\$ 567.00	s 170,100.00
2601	Cut and plug 4", 6" and 8" diameter pipe	EA	10	Nine Hundred Seven	\$ 907.00	\$ 9,070.00
2602	Cut and plug 10", 12" and 16" diameter pipe	EA	5	One Thousand Eighty Twon	\$ 1,082,00	\$ 5,410.00
2800	Make tap and furnish materials to connect 3" and smaller water mains to new/existing mains (0-15 ft. in length)	EA	5	One Thousand Three Hundred Ninety Seven	\$ 1,397.00	s 6.985.00
2801	Make tap and furnish materials to connect 3" and smaller water mains to new/existing mains (more than 15 ft. in length)	EA	5	One Thousand Six Hundred Ninety Four	\$ 1,694.00	s 8,470.00
3000	F&I 4" wedge-action MJ or flange restraint	EA	10	One Hundred Thirty Two	\$ 132.00	\$ 1.320.00
3001	F&I 6" wedge-action MJ or flange restraint	EA	10	One Hundred Forty Six	\$ 146.00	\$ 1,460.00
3002	F&I 8" wedge-action MJ or flange restraint	EA	10	One Hundred Fifty Nine	\$ 159.00	\$ 1,590,00
3003	F&I 10" wedge-action MJ or flange restraint	EA	10	Two Hundred Seventy	\$ 270.00	\$ 2.700.00
3004	F&I 12" wedge-action MJ or flange restraint	EA	10	Three Hundred Thirty Twon	\$ 332.00	\$ 3,320.00
3005	F&I 14" wedge-action MJ or flange restraint	EΑ	10	Four Hundred Seventy	\$ 470.00	\$ 4,700.00
3006	F&I 16" wedge-action MJ or flange restraint	EA	10	Five Hundred Eighty Two	\$ 582.00	\$ 5,820.00
3040	Furnish & install 4" bell and MJ restraint on existing pipe	EA	6	Three Hundred Sixty Five	\$ 365.00	\$ 2.190.00
3041	Furnish & install 6" bell and MJ restraint on existing pipe	EA	20	Four Hundred Forty Three	\$ 443.00	\$ 8,860.00
3042	Furnish & install 8" bell and MJ restraint on existing pipe	EA	20	Five Hundred One	\$ 501.00	\$ 10,020.00
3043	Furnish & install 10" bett and MJ restraint on existing pipe	EA	20	Five Hundred Ninety Seven	\$ 597.00	\$ 11,940.00
3044	Furnish & install 12" bell and MJ restraint on existing pipe	EA	20	Nine Hundred Seventy Seven	\$ 977.00	\$ 19,540.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words	Unit Price		Total Computed Price
3045	Furnish & install 16" belt and MJ restraint on existing pipe	EA	10	One Thousand Four Hundred Fifty Two	s \$1,452.00	s	14,520.00
3050	Furnish & install 4" wedge-action MJ restraint on new PVC pipe	EA	10	One Hundred Twelve	s \$112.00	s	\$1,120:00
3051	Furnish & install 6" wedge-action MJ restraint on new PVC pipe	EA	10	One Hundred Thirty	\$ \$130.00	s	\$1,300.00
3052	Furnish & install 8" wedge-action MJ restraint on new PVC pipe	EA	10	Two Hundred Twenty	\$ \$220.00	s	\$2,200.00
3053	Furnish & install 12" wedge-action MJ restraint on new PVC pipe	EA	10	Three Hundred Sixty Six	\$ \$366.00	\$	\$3,660.00
3054	Furnish & install 16" wedge-action MJ restraint on new PVC pipe	EA	10	Five Hundred Ninety Seven	\$ \$597.00	S	\$5,970.00
3070	Furnish 4" push-on gasket (gripper-type) restraint	EA	30	One Hundred Twenty Four	\$ \$124.00	\$	\$3,720.00
3071	Furnish 6" push-on gasket (gripper-type) restraint	EA	30	One Hundred Seventy Nine	\$ \$179.00	3	\$5,370.00
3072	Furnish 8" push-on gasket (gripper-type) restraint	EA	30	Two Hundred Forty Four	\$ \$244.00	\$	\$7,320.00
3073	Furnish 12" push-on gasket (gripper-type) restraint	EA	30	Three Hundred Forty Nine	\$ \$349.00	\$	\$10,470.00
3074	Furnish 16" push-on gasket (gripper-type) restraint	EA	30	Seven Hundred Ninety Nine	\$ \$799.00	\$	\$23,970.00
4000	F&I 4" DI MJ plug or cap	EA	2	Ninety Eight	\$ \$98.00	\$	\$196.00
4001	F&I 4" DI MJ bend, offset, sleeve or reducer	EA	2	Three Hundred Ten	\$ \$310.00	\$	\$620.00
4002	F&I 4" DI MJ tee	EA	2	Three Hundred Thirty	\$ \$330.00	\$	\$660.00
4003	F&I 4" (x 12") DI MJ offset	EA	2	Four Hundred Ninety Nine	\$ \$499.00	\$	\$998.00
4004	F&I 6" DI MJ plug or cap	EA	2	One Hundred Twenty Six	\$ \$126.00	\$	\$252.00
4005	F&I 6" DI MJ bend, offset, sleeve or reducer	EA	10	Three Hundred Sixty Five	\$ \$365.00	\$	\$3,650.00
4006	F&I 6" DI MJ tee	EA	5	Five Hundred Thirty Three	\$ \$533.00	\$	\$2,665.00
4007	F&I 6" (x 12") DI MJ offset	EA	2	Five Hundred Three	\$ \$503.00	\$	\$1,006.00
4008	F&I 8" DI MJ plug or cap	EA	2	Two Hundred Seventeen	\$ \$217.00	\$	\$434.00
4009	F&I 8" DI MJ bend, offset, sleeve or reducer	EA	10	Five Hundred Ninety	\$ \$590.00	\$	\$5,900.00
4010.1	F&I 8" x 4" DI MJ tee	EA	2	Five Hundred Ninety Seven	\$ \$597.00	\$	\$1,194.00
4010.2	F&I 8" x 6" DI MJ tee	EA	2	Six Hundred Eighty One	\$ \$681.00	\$	\$1,362.00
4010.3	F&I 8" x 8" DI MJ tee	ĒA	2	Seven Hundred Twenty Nine	\$ \$729.00	\$	\$1,458.00
4011	F&i 8" (x 12") DI MJ offset	EA	2	Seven Hundred Eighty Three	\$ \$783.00	\$	\$1,566.00
4012	F&I 12" D MJ plug or cap	ĒΑ	2	Four Hundred Forty Six	\$ \$446.00	\$	\$892.00
4013	F&I 12" DI MJ sleeve or reducer	EA	2	Seven Hundred Seventy	\$ \$770.00	\$	\$1,540.00
4013.1	F&I 12" DI MJ 11.25°(or 22.5°) bend	EA	2	Seven Hundred Fifty Six	\$ \$756.00	\$	\$1,512.00
4013.2	F&I 12" 45° DI MJ bend	EA	2	Seven Hundred Ninety Seven	\$ \$797.00	\$	\$1,594.00
4013.3	F&I 12" 90° DI MJ bend	ΕA	2	Eight Hundred Twenty One	\$ \$821.00	\$	\$1,642.00
4014.1	F&I 12" x 4" (or 6") DI MJ tee	EA	2	Eight Hundred Forty Two	\$ \$842.00	\$	\$1,684.00
4014.2	F&I 12" x 8" DI MJ tee	EA	2	Eight Hundred Ninety Seven	\$ \$897.00	\$	\$1,794.00
4014.3	F&I 12" x 12" DI MJ tee	EA	2	One Thousand Eighty Six	\$ \$1,086.00	\$	\$2,172.00
4015	F&I 12" (x 12") DI MJ offset	EA	2	One Thousand One Hundred Fifty Two	\$ \$1,152.00	\$	\$2,304.00
4016	F&I 16" MJ DI MJ plug or cap	EA	2	Seven Hundred Ninety Three	\$ \$793.00	\$	\$1,586,00
4017	F&I 16" DI MJ sleeve or reducer	EA	2	One Thousand One Hundred Six	\$ \$1,106.00	\$	\$2.212.00
4017.1	F&I 16" DI MJ 11.25° bend	EA	2	One Thousand One Hundred Eighty Two	\$ \$1,182.00	\$	\$2.364.00
4017.2	F&I 16" 22.5° DI MJ bend	EA	2	One Thousand One Hundred Forty Eight	\$ \$1.148.00	\$	\$2,296,00
4017.3	F&I 16" 45° DI MJ bend	EA	2	One Thousand One Hundred Sixty Eight	\$ \$1,168.00	\$	\$2,336.00
4017.4	F&I 16" 90° DI MJ bend	EA	2	One Thousand Four Hundred Twenty Three			\$2,846.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words	Unit Price		Total Computed Price
4018.1	F&I 16" x 4" (or 6") DI MJ tee	EA	2	One Thousand Three Hundred Sixty Eight	\$ \$1,368.00	\$	\$2,736.00
4018.2	F&I 16" x 8" DI MJ tee	EA	2	One Thousand Three Hundred Sixty One	\$ \$1,361.00	5	\$2,722.00
4018.3	F&I 16" x 12" DI MJ tee	EA	2	One Thousand Five Hundred Eighty Seven	\$ \$1,587.00	3	\$3,174.00
4018.4	F&I 16" x 16" DI MJ tee	EA	2	One Thousand Eight Hundred Forty Nine	\$ \$1,849.00	\$	\$3,698.00
4019	F&I 16" (x 12") DI MJ offset	EA	2	Three Thousand Fifteen	\$ \$3,015.00	\$	\$6,030,00
5000	F&I Fire Hydrant Assembly (valve, tee/tap, and Gradelok fitting paid separate)	EA	30	Six Thousand One Hundred Twenty Twon	\$6,122.00	\$	\$183,660.00
5010	F&I 6" Gradelok fitting with FH installation	EA	4	Five Hundred Seven	\$ \$507.00	\$	\$2,028.00
5011	F&I 12" Gradelok fitting with FH installation	EA	4	Seven Hundred Sixty Three	\$ \$763.00	\$	\$3,052.00
5012	F&I 24" Gradelok fitting with FH installation	EA	4	Nine Hundred Twenty Nine	\$ \$929.00	\$	\$3,716.00
5101	Remove & salvage Fire Hydrant Assembly	EA	20	One Thousand Eighty Two	\$ \$1,082.00	\$	\$21,640.00
5300	F&I Protection Post	EA	2	Eight Hundred Fifty Five	\$ \$855.00	\$	\$1,710.00
6000	F&I 2" gate or tapping valve with box	EA	2	Eight Hundred Fifty Four	\$ \$854.00	\$	\$1,708.00
6001	F&I 4" gate or tapping valve with box	EA	2	One Thousand Four Hundred Forty Six	\$ \$1,446.00	\$	\$2,892.00
6002	F&I 6" gate or tapping valve with box	EA	30	Two Thousand One	\$ \$2,001.00	\$	\$60,030,00
6003	F&I 8* gate or tapping valve with box	EA	20		\$ \$2,518.00	\$	\$50,360.00
6004	F&I 10" gate or tapping valve with box	EA		Three Thousand Three Hundred Forty Five	\$ \$3,345.00	5	\$6,690.00
6005	F&I 12" gate or tapping valve with box	EA		Four Thousand Eight Hundred Thirty Three	\$ \$4,833.00	\$	\$9,666.00
6006	F&i 16" gate or tapping valve with box	EA	_2	Eleven Thousand One Hundred Twenty Four	\$ \$11,124.00	\$	\$22,248.00
6020	F&I 16" butterfly valve with box	EA	2	Five Thousand Five Hundred Forty	\$ \$5,540.00	\$	\$11,080.00
6080	F&I Valve Nut Extension	EA	4	Three Hundred Thirty	\$ \$330.00	\$	\$1,320.00
6200	F&I 2" or 2-1/2" Linestop on Water Main	EA	1	Three Thousand Seventy Seven	\$ \$3,377.00	\$	\$3,377.00
6201	F&I 4" Linestop on Water Main	EA	1	Four Thousand Seven Hundred Forty Five	\$ \$4,745.00	\$	\$4,745.00
6203	F&I 6" Linestop on Water Main	EA	6	Six Thousand Seven Hundred Forty Nine	\$ \$6,749.00	\$	\$40,494.00
6205	F&I 8" Linestop on Water Main	EA		Seven Thousand Five Hundred Seventy Six	\$ \$7,576.00	\$	\$45,456.00
6207	F&I 10" Linestop on Water Main	EA	1	Nine Thousand Seven Hundred Seventy One	\$ \$9,771.00	\$	\$9,771.00
6208	F&I 12"Linestop on Water Main	EA	4	Eleven Thousand Four Hundred Nine	\$ \$11,409.00	\$	\$45,636.00
6209	F&I 16" Linestop on Water Main	EA	4	Fifteen Thousand Two Hundred Seventy Four	\$ \$15,274.00	3	\$61,096.00
6210	F&I 24" Linestop on Water Main	EA	2	Twenty Three Thousand Five Hundred Fifty Five	\$ \$23,555.00	\$	\$47,110.00
6211	F&I 30" Linestop on Water Main	EA	1	Thirty Nine Thousand Six Hundred Fifty Seven	\$ \$39,657.00	\$	\$39,657.00
6212	F&I 36"Linestop on Water Main	EA	1	Fourty Five Thousand Four Hundred Fifty Four	\$ \$45,454.00	\$	\$45,454.00
7001.0	F&I 4" MJ tapping sleeve and make tap	EA	1	Two Thousand Seven Hundred Forty Seven	\$ \$2,747.00	\$	\$2,747.00
7000.1	F&I 6" x 4" Steel tapping sleeve and make tap	EA		Two Thousand Four Hundred Eighty Eight	\$ \$2,488.00	\$	\$12,440.00
7001.2	F&I 6" x 6" MJ tapping sleeve and make tap	EA	10	Three Thousand Five Hundred Eleven	\$ \$3,511.00	\$	\$35,110.00
7002.1	F&I 8" x 4" Steel tapping sleeve and make tap	EA	1	Three Thousand Six Hundred Eighty Nine	\$ \$3,689.00	\$	\$3,689.00
7002.2	F&I 8" x 6" Steel tapping sleeve and make tap	EA	10	Three Thousand Eight Hundred Thirteen	\$ \$3,813.00	\$	\$38,130.00
7002.3	F&I 8" x 8" MJ tapping sleeve and make tap	EA	4	Four Thousand Six Hundred Sixty Eight	\$ \$4,668.00	\$	\$18,672.00
7003.1	F&I 12" x 4" Steel tapping sleeve and make tap	EA	1	Three Thousand Seven Hundred Sixty Eight	\$ \$3,768.00	\$	
7003.2	F&I 12" x 6" Steel tapping sleeve and make tap	EA	10	Three Thousand Nine Hundred Eleven	\$ \$3,911.00	\$	\$39,110.00
7003.3	F&I 12" x 8" Steel tapping sleeve and make tap	EA	2	Four Thousand Two Hundred Thirty Two	\$ \$4,232.00	\$	\$8,464.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price		Total Computed Price
7003.4	F&I 12" x 12" MJ tapping sleeve and make tap	EA	1	Six Thousand Six Hundred Forty Three	\$	\$6,643.00	\$	\$6,643.00
7004.1	F&i 16" x (≤8") Steel tapping sleeve and make tap	EA		Four Thousand Nine Hundred Seventy Three	\$	\$4,973.00	\$	\$4,973.00
7004.2	F&I 16" x 12" Steel tapping sleeve and make tap	EA	1	Five Thousand Six Hundred Ninety Four	\$	\$5,694.00	\$	\$5,694.00
7004.3	F&I 16" x 16" MJ tapping sleeve and make tap	EA	1	Thirteen Thousand Two Hundred	\$	\$13,200.00	\$	\$13,200.00
8100	F&I 3/4" or 1" meter service (0-15")	EA		One Thousand Nine Hundred Thirty Four	\$	\$1,934.00	\$	\$580,200.00
8101	F&i 3/4" meter service (+15-80')	EA	300	Two Thousand Three Hundred Forty Three	\$	\$2,343.00	\$	\$702,900.00
8102	F&I 3/4" meter service (+80-150')	EA.	10	Three Thousand Two Hundred Fifty Six	\$	\$3,256.00	\$	\$32,560.00
8103	F&I 3/4" or 1" Dual meter service (0 - 15')	EA.	10	Two Thousand Two Hundred Sixteen	\$	\$2,216.00	\$	\$22,160.00
8104	F&I 3/4" or 1" Dual meter service (+15'-80")	EA.	10	Two Thousand Three Hundred Forty	\$	\$2,340.00	\$	\$23,400.00
8105	F&I 3/4" Dual meter service (+80'-150')	EA.	10	Two Thousand Four Hundred Seventy Eight	\$	\$2,478.00	\$	\$24,780.00
8106	F&I 1" Dual meter service (+80'-150')	EA.		Three Thousand Seven Hundred Forty Nine	\$	\$3,749.00	\$	\$37,490.00
8107	F&I 1" or 1-1/2" meter service (+15'-80')	EA	10	Three Thousand Three Hundred Eleven	\$	\$3,311.00	\$	\$33,110.00
8108	F&I 1" or 1-1/2" meter service (+80'-150')	EA	10	Three Thousand Nine Hundred Fifty Six	\$	\$3,956.00	\$	\$39,560.00
8109	F&I 1-1/2" or 2" meter service (0-15')	EA	10	Three Thousand Five Hundred Eighty Seven	\$	\$3,587.00	\$	\$35,870.00
8110	F&I 2" DDCV and service (0-15')	EA	10	Three Thousand Seven Hundred Ninety Four	\$	\$3,794.00	\$	\$37,940.00
8300	Install city-provided 3" meter (slab or vault to be paid separate)	EA	5	One Thousand One Hundred Eighty Three	\$	\$1,183.00	\$	\$5,915.00
8301	Install city-provided 4" meter (slab or vault to be paid separate)	EA	5	One Thousand Four Hundred Fifty Nine	\$	\$1,459.00	\$	\$7,295.00
8302	Install city-provided 6" meter (slab or vault to be paid separate)	EA	3	One Thousand Five Hundred Ninety Seven	\$	\$1,597.00	\$	\$4,791.00
8303	Install city-provided 8" meter (slab or vault to be paid separate)	EA	3	One Thousand Seven Hundred Thirty Four	\$	\$1,734.00	\$	\$5,202.00
8320	Install 4" double detector check valve assembly	EA	1	One Thousand Five Hundred Ninety Seven	\$	\$1,597.00	\$	\$1,597.00
8321	Install 6" double detector check valve assembly	EA	1	One Thousand Seven Hundred Thirty Four	\$	\$1,734.00	\$	\$1,734.00
8322	Install 8" double detector check valve assembly	EA	1	One Thousand Eight Hundred Seventy Two	\$	\$1,872.00	\$	\$1,872.00
8323	Install 10" double detector check valve assembly	EA	1	Two Thousand Ten	\$	\$2,010.00	П	\$2,010.00
8324	Install 12" double detector check valve assembly	EA	1	Two Thousand One Hundred Forty Eight	\$	\$2,148.00	\$	\$2,148.00
8404	F&I auxiliary materials for above-ground large service w/ 12'x5' slab	EA	1	Five Thousand Eight	\$	\$5,008.00	\$	\$5,008.00
8405	F&I auxiliary materials for above-ground large service w/ 12'x9' slab	EA	1	Five Thousand Five Hundred Fifty Nine	\$	\$5,559.00	\$	\$5,559.00
9200	Furnish, place and compact limerock base	CY	50	Two Hundred Seven	- \$	\$207.00	\$	\$10,350.00
9201	Furnish, place and compact crushed concrete base	CY	100	Two Hundred Ten	\$	\$210.00	\$	\$21,000.00
9202	Furnish and place approved flowable fill	CY	100	Two Hundred Thirty Three	\$	\$233.00	\$	\$23,300,00
9203	Furnish, place and compact asphalt patch (Superpave Type SP 12.5 or Type SP 9.5 w/ < 8 SY or < 1.5 Tons)	SY-IN	500	One Hundred Thirty Three	\$	\$133.00	\$	\$66,500.00
9205	Furnish, place and compact asphalt concrete base or surface course, (Superpave Type SP-12.5)	TN	50	Seven Hundred Forty One	s	\$741.00	\$	\$37,050.00
9207	Furnish, place, grade and compact asphaltic concrete overlay (Superpave Type SP-9.5)	TN	50	Seven Hundred Nine	5	\$709.00	\$	\$35,450.00
9208	Mobilization to perform mechanical milling	EA	4	One Thousand Two Hundred Eighty Eight	\$	\$1,288.00	\$	\$5,152.00
9209	Mechanical milling of asphalt roadways in 1-inch increments	SY-IN	1,000		\$	\$26.00	\$	\$26,000.00
9210	Restore 6" thick concrete driveway	SY		One Hundred Nine	\$	\$109.00	\$	\$21,800.00
9211	Restore brick pavement, including base material	SY	20	Two Hundred Seven	\$	\$207.00	\$	\$4,140.00
9212	Install Brick pavement furnished by City, Contractor F&I base material	SY	100	One Hundred Sixty Nine	s	\$169.00	\$	\$16,900,00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price		Total Computed Price
9250	Furnish materials & Install Signalization loops	EA	5	Two Thousand Seven Hundred Fifty	S	\$2,750.00	s	\$13,750.00
9300	Furnish and install Type "D" concrete curb	LF		One Hundred Four	S	\$104.00	š	\$10,400.00
9301	Furnish and install valley curb	LF		One Hundred Eight	s		Š	\$2,160.00
9302	Furnish and install Miami curb	LF		One Hundred Eleven	5			\$11,100.00
9303	Furnish and install Type "F" concrete curb	LF		One Hundred Eleven	S			\$11,100.00
9304	Furnish and install stone or precast curb	LF		One Hundred Forty Two			\$	\$2,840.00
9305	Remove and install existing stone curb	LF		One Hundred One				\$1,010.00
9306	Furnish and install asphaltic concrete curb	LF		One Hundred Twenty Nine			s	\$1,290.00
9307	Furnish and install 4" thick concrete sidewalk	SY		Ninety Five			s	\$28,500.00
9308	Furnish and install paver block sidewalk or driveway	SY		Two Hundred Fifty Eight	s	\$258.00	s	\$12,900.00
9309	Grade and sod roadside/ditch bottoms and sides - Bahia	SY		Twenty Three	s	\$23.00	\$	\$23,000.00
9310	Grade and sod roadside/ditch bottoms & sides - St. Augustine	SY		Thirty Two	\$		s	\$32,000.00
9311	Grade, fertilize, sprig, and hydro-seed roadside	SY		Sixty Four	\$	\$64.00	\$	\$3,200.00
9312	F&I detectable warnings on concrete walking surfaces	EA	6	Four Hundred Fifty Two	\$	\$452.00	s	\$2,712.00
9400	Grout abandoned pipe	CY	2	One Thousand Forty Seven	\$	\$1,047.00	\$	\$2,094.00
9410	Place and compact backfill soils	CY	2	Ninety Seven			s	\$194.00
9411	Furnish, place and compact backfill soils	CY	2	One Hundred Twenty Nine	\$	\$129.00	\$	\$258.00
9500	Furnish, form and place reinforced concrete	CY	2	Six Hundred Forty Four	\$	\$644.00	\$	\$1,288.00
9504	Replace damaged but not marked sanitary laterals, w PVC	LF	50	One Seventy Two	\$	\$172.00	\$	\$8,600.00
9505	Video photography	LF	100	Nine	\$	\$9.00	s	\$900.00
9600	Demolish and Remove Large service vault	EA		Four Thousand Fifty Nine	\$	\$4,059.00	\$	\$4,059.00
9601	Demolish and Remove Large service concrete slab	EA	L	One Thousand Two Hundred Ten	_		\$	\$1,210.00
9701	Excavation and removal of muck	CY	2	Two Hundred Fifty Eight	\$	\$258.00	\$	\$516.00
9801	Root Pruning	LF	20	Thirty Two	\$	\$32.00	\$	\$640.00
9900	Excavation exploratory pits (10'x10' x 5' deep)	EA	10	Five Hundred Dollars and no Cents	\$	500.00	\$	5,000.00
9920	F&I blow-off assembly w/valve & meter box, per Detail 2.16	EA	5	One Thousand Nine Hundred Forty One	\$	\$1,941.00	\$	\$9,705.00
9921	F&I blow-off assembly w/valve & meter box, per Detail 2.17	EA		Two Thousand Five Hundred Four	\$	\$2,504.00	5	\$12,520.00
9930	Furnish & install precast thrust blocks	EA	6	Three Hundred Seven	\$	\$307.00	\$	\$1,842.00
9931	Furnish, form & pour concrete thrust blocks	CY	1	Six Hundred Ninety Five	\$		\$	\$695.00
9940	Cut into existing asbestos concrete pipe	EA	1	Two Thousand Five Hundred Seventy Six	\$	\$2,576.00	\$	\$2,576.00
9980	Contingency allowance - to be used by City	LS	1	Three Hundred Thousand Dollars and No Cents	\$	300,000.00	\$	300,000.00
10000	Payment and Performance Bond Allowance	LS	1	Fifty Thousand Dollars and No Cents	\$	50,000.00	\$	50,000.00
	Maintenance of Traffic Allowance (3% of Work Order or			Three Hundred Fifty Thousand Dollars and			T	
11000	cost+markup)	LS	1	No Cents	\$	350,000.00	\$	350,000.00
						TOTAL		\$4,710,072.00

Good Faith Effort Compliance Plan Guidelines for Women/Minority Business Enterprise\Small Local Business Enterprise Participation City of Tampa - Equal Business Opportunity Program (MBD Form 50 - detailed instructions on page 2 of 2)

	tract Name, Citywide Meter, Hydrant, and Valve Installation and Replacement	Bid Date <u>5/11/2021</u>
Bidd	ler/Proposer_RTD Construction, Inc.	
Sign	ature hours E forth	Date 5/11/2021
Nam	e Dannie E. Jordan Title President	
The (Compliance Plan with attachments is a true account of Good Faith Efforts (GFE) made to achieve t ified for Women/Minority Business Enterprises/Small Local Business Enterprises (WMBE/SLBE) o	he participation goals as in the referenced contract:
	ne WMBE/SLBE participation <u>Goal is Met or Exceeded</u> . See DMI Forms 10 and 20 which a contractors <u>solicited</u> and <u>all</u> subcontractors <u>to-be-utilized</u> .	ccurately report <u>all</u>
step	ne WMBE/SLBE participation Goal is Not Achieved. The following list is an overview of the salready performed. Furthermore, it is understood that these GFE requirements are weign uation based on the veracity and demonstrable degree of documentation provided with the (Check applicable boxes below. Must enclose supporting documents accordingly versions of the solicited through reasonable and available means the interest of WMBE/SLBEs that have the capability to perform the work of the solicit this interest within sufficient time to allow the WMBE/SLBEs to respond. The Bidder or Proposer must take appropriate step interested WMBE/SLBEs. The See DMI report forms for subcontractors solicited.	phted in the compliance ne bid/proposal: vith remarks) e contract. The Bidder or Proposer must ps to follow up initial solicitations with
	efforts. 🗆 Qualifying Remarks:	
(2)	Provided interested WMBE/SLBEs with adequate, specific scope information about the plans, specifications, and requirements of timely manner to assist them in responding to the requested-scope identified by bidder/proposer for the solicitation. Geographics and Company of the solicitation of timely manner to assist them in responding to the requested-scope identified by bidder/proposer for the solicitation.	
(3)	Negotiated in good faith with interested WMBE/SLBEs that have submitted bids (e.g. adjusted quantities or scale). Documentation addresses, and telephone numbers of WMBE/SLBEs that were solicited; the date of each such solicitation; a description of the infland specifications for the work selected for subcontracting; and evidence as to why agreements could not be reached with WMBE costs involved in soliciting and using subcontractors is not a sufficient reason for a bidder/proposer's failure to meet goals or achie are reasonable. Bidders are not required to accept excessive quotes in order to meet the goal. DMI Utilized Forms for sub-(contractor/consultant) reflect genuine negotiations This projection and negotiations are limited to clarifications of scope/specifications and qualifications. See	formation provided regarding the plans //SLBEs to perform the work. Additional eve perticipation, as long as such costs ct is an RFQ/RFP in nature
(4)	Not rejecting WMBE/SLBEs as being unqualified without justification based on a thorough investigation of their capabilities. The Wmembership in specific groups, organizations / associations and political or social affiliations are not legitimate causes for rejecting Not applicable. See attached justification for rejection of a subcontractor's bid or proposal	or not soliciting bids to meet the goals.
(5)	Made scope(s) of work available to WMBE/SLBE subcontractors and suppliers; and, segmented portions of the work or material of WMBE/SLBE subcontractors and suppliers, so as to facilitate meeting the goal. Sub-Contractors were allowed to be work or trade without restriction to a pre-determined portion.	
(6)	Made good faith efforts, despite the ability or desire of Bidder/Proposer to perform the work of a contract with its own forces/organ to self-perform the work of a contract must demonstrate good faith efforts if the goal has not been met. Sub-Contractors we submitting bids/proposals and were solicited on work typically self-performed by the prime.	vere not prohibited from
(7)	Segmented portions of the work to be performed by WMBE/SLBEs in order to increase the likelihood that the goals will be met. The breaking out contract work items into economically leasible units (quantities/scale) to facilitate WMBE/SLBE participation, even with prefer to perform these work items with its own forces. **Sub-Contractors were allowed to bid on their own characteristic on to a pre-determined portion. **Sub-Contractors were not prohibited from submitting solicited on work typically self-performed by the prime.	nen the Bidder/Proposer might otherwise loice of work or trade without
(8)	Made efforts to assist interested WMBE/SLBEs in obtaining bonding, lines of credit, or insurance as required by the city or contract Discontinuous See enclosed documentation on initiatives undertaken and methods to accomplish. Discontinuous Quality	ctor. Ifying Remarks:
(9)	Made efforts to assist interested WMBE/SLBEs in obtaining necessary equipment, supplies, materials, or related assistance or ser acceptable mentor-protégé program. □ See enclosed documentation of initiatives and/or agreements. □	
(10)	Effectively used the services of the City and other organizations that provide assistance in the recruitment and placement of WMB See enclosed documentation. The following services were used: WMBE and/or SLBE WWW.Tampagov.net	Directory
Note:	Provide any unsolicited information that will support the Bid/RFP Compliance Evaluation. □ Named Doc	



MBD 10 rev./effective 02/2016

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.:					
	· · · · · · · · · · · · · · · · · · ·	P.O. Box 2439, Zej	and the same of th		
Federal ID:	59-3223426 Phone:813-783-9119 Fax: 813-	783-9333 Ema	il: di@rtdco	nstruction.	com
[] No Firms [] No Firms [] See attac Note: Form	able box(es). Detailed Instructions for completing this for were contacted or solicited for this contract. were contacted because: hed list of additional Firms solicited and all supplemental MBD-10 must list ALL subcontractors solicited including Normal Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects	mental information	(List must		this form)
				Ţ	
S = SLBE		Type of Ownership (F=Female M=Male)	Trade or	Contact	Quote
W=WMBE O = Neither	Company Name	BF BM = African Am.	Services	Method L=Letter	or
Federal ID	Address Phone, Fax, Email	HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	NIGP Code (listed above)	F=Fax E=Email P=Phone	Response Received Y/N
S	2 Meyer Corp. 6308 Lake Sunrise Dr., Apollo Beach, FL 33572	СМ		E,P	N
562384669	813-210-4864 813-645-5634 renatonjr@aol.com				
S	DRD Enterprises LLC 4104 Yellowwood Dr., Valrico, FL 33594	ВМ		E,P	N
204675317	813-476-9933 866-850-1332 deenahd@yahoo.com			4: 1	1 1
S	Mar Supply Co	НМ		E,P	N
270206845	1660 63rd Avenue East, Bradenton, FL 34203 941-286-3240 941-761-6500 info@marsupplyco.com	1)			
S	Suca Pipe Suply, Inc. 4910 Lowell Rd., Tampa, FL 33624	ВМ		E,P	Y
592499571	813-249-7902 slmau44@yahoo.com				
S	Suca Pipe Supply, Inc. One	BF		E,P	Υ
263669556	4910 Lowell Rd., Tampa, FL 33624 813-249-7902 mactwinau1@yahoo.com				
S	Beato Group, Inc. 8961 Turnstone Haven Place, Tampa, FL 33619	НМ		E,P	N
454003966	813-250-0196 infor@beatogroup.com				
S	Comerstone Barricades, Inc. 3201 SW 42nd St., Gainesville, FL 32608	ВМ		E,P	Y
810763816	352-373-8001 352-377-8976 seyi.falade@cornerstor	nebarricades.com			
It is hereby ce	ertified that the information provided is an accurate and tru	ue account of contac	ts and solicit	ations for s	sub-contracting

opportunities on this contract.

Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021

Fallure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.	: 21-C-00018 Contract Name: Citywide	Meter, Hydrant and Valve Installatio	n and Replacen	nent-FY2021					
Company Na	ny Name: RTD Construction, Inc. Address: P.O. Box 2439, Zephyrhills, FL 33539-2439								
Federal ID:_	<u>59-3223426</u> Phone: <u>813-783-9119</u>	Fax: 813-783-9333 Em	ail: dj@rtdco	nstruction.	com				
[] No Firms [] No Firms [] See attac Note: Form	cable box(es). Detailed Instructions for complete were contacted or solicited for this control were contacted because: ched list of additional Firms solicited and a m MBD-10 must list ALL subcontractors solicited is pries: Buildings = 909, General = 912, Heavy = 913, Trades = 909.	act. all supplemental information of the supplemental informa	n (List must		this form)				
S = SLBE		Type of Ownership	Trade or	Contact	Quote				
W=WMBE O = Neither	Company Name	(F=Female M=Male) BF BM = African Am.	Services	Method	Ot.				
Federal ID	Address Phone, Fax, Email	HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	NIGP Code (listed above)	L=Letter F=Fax E=Email P=Phone	Response Received Y/N				
S	Exclusive Contractors, Inc.	ВМ		E,P	N				
592345574	-277 S. 10th Ave., Bartow, FL 33830 863-559-1039 roadcontractor2@yahoo.con								
S	McKenzie Contracting, LLC	ВМ		E,P	N				
463561860	-7712 W. Broadway Ave., Tampa, FL 33619 813-454-4429 813-454-4429 valarie@mck	èpziecon ractinglic com			1				
S	Quick Construction Solutions, LLC	HM		E,P	N				
900972890	4501 N. Saint Vincent St., Tampa, FL 3361 813-377-9997 813-374-5849 quickcs@outl		1 1 1	1 7 1 7 %	* * *				
S	Safety Zone Specialists	CM		E,P	N				
844519704	8341 Epicenter Blvd., Lakeland, FL 33809 863-984-1385 863-984-0139 ofcmgr@safe	etyzonespecialists.com							
S	Carja Construction, Inc.	CF CF	, , , ,	EP	N				
463665283	-2010 Chickwood Ct., Tampa, FL 336 813-304-7158 carly@puleosconcre								
S	H.B. Underground Inc.	НМ		E,P	N				
842208449	11500 N Dale Mabry Hwy, Tampa, FL 3361 813-455-5815 hugo726b@gmail.com								
S	Bun Construction Co., Inc. 4135 E. Hillsborough Ave., Tampa, FL 3361	ВМ		E,P	N				
593362663	813-931-8270 813-931-9185 bunconstruct				e E				
	ertified that the information provided is an accurant this contract.	rate and true account of contain		ations for s	•				

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal

MBD 10 rev./effective 02/2016



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Company Na		P.O. Box 2439, Ze			39					
	59-3223426 Phone:813-783-9119 Fax: 813-783-9333 Email: dj@rtdconstruction.com									
[] No Firms [] No Firms [] See attac Note: Form	able box(es). Detailed Instructions for completing this were contacted or solicited for this contract. were contacted because: thed list of additional Firms solicited and all supplementation of the solicited including Notices: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects	mental information	ı (List must		this form)					
S = SLBE		Type of Ownership	Trade or	Contact	Quote					
W=WMBE O = Neither	Company Name	(F=Female M=Male) BF BM = African Am.	Services	Method L=Letter	or					
Federal ID	Address Phone, Fax, Email	HF HM = Hispanic AF AM = Asian Am. NF NM ≈ Native Am. CF CM = Caucasian	NIGP Code (listed above)	F=Fax E=Email P=Phone	Response Received Y/N					
S	City Wide Paving, LLC 2508 N. 32nd St., Tampa, FL 33605	вм		E,P	NN					
270559624	813-325-4250 813-849-1723 citywidepavingcwp@y									
S	Agro-Turf corp.	HF		E,P	N					
205501762	11810 Bullfrog Creek Rd., Gibsonton, FL 33534 813-267-8156 813-741-9253 beatriz@agrotun org		,		· . B					
S	Always Green Landscaping, Inc.	HF		E,P	N					
320580963	6501 Sawyer Court, Tampa, FL 33634 (1997) 813-516-0823 alwaysgreenlandscapinginc@gmail.co			1						
S	Baron's Landscaping Services, Inc. 2415 East Sligh Avenue, Tampa, FL 33610	HM		E,P	N					
650837654	813-404-1509 813-443-4919 Baronslawncare@aol	.çom								
S	Cardinal Landscaping Services of Tampa, Inc. (1)	CM	- ()	EP	N					
593394554	813-915-9696 813-915-9695 msmantei@yahoo.com	104 10 K 1010000 NO								
S	Cut-Ups Lawn Service 3217 East Powhatan Ave., Tampa, FL 33610	ВМ		E,P	N					
611412916	813-361-8871 813-238-2397 cutupslawnservice@ya	hop.com								
S	D & J Lawn Services of Lakeland, LLC 575 Old Polk City Rd., Lakeland, FL 33809	НМ	į	E,P	N					
273279070	863-859-3525 DANDJLAWNSERVICES@HOTMAIL	.сом	<u> </u>							
opportunities of Signed:		nie E. Jordan, Presid	dent	Date: <u>5/11</u>	/2021					
Failu	re to Complete, Sign and Submit Both Forms 10 & 20 SI	HALL render the Bid	or Proposal	Non-Respo	nsive					

Forms must be included with Bid / Proposal

MBD 10 rev./effective 02/2016



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.:					30
		O. Box 2439, Zer			
Federal ID:	59-3223426 Phone: <u>813-783-9119</u> Fax: <u>813-78</u>	13-9333 Ema	il: <u>di@rtdcor</u>	nstruction.	com
[] No Firms [] No Firms [] See attac Note: Form	able box(es). Detailed Instructions for completing this for were contacted or solicited for this contract. were contacted because: hed list of additional Firms solicited and all supplement MBD-10 must list ALL subcontractors solicited including Non- fes: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects = 9	ental information minority/small busin	(List must		this form)
S = SLBE		Type of Ownership	Trade or	Contact	Quote
W=WMBE O = Neither	Company Name	(F=Female M=Male) BF BM = African Am.	Services	Method	or
Federal ID	Áddress Phone, Fax, Email	HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM ≈ Caucasian	NIGP Code (listed above)	L=Letter F=Fax E=Email P=Phone	Response Received Y/N
S	Davido Latinoalo	ВМ		E,P	NNN
189662164	9885 Morris Glen Way, Tampa, FL 33687 813-334-4096 davidrasheed2@gmail.com				
S	Dean's Environmental Inc. 11809 Autumn Creek Dr., Riverview, FL 33569	ВМ	,	E,P	N
474774375	813-428-2011 deank8859@gmail.com		. 1111	out)	
S	Fresh Start Development, Inc. 5508 N 50th St., Tampa, FL 33610	BF	,	E,P	N
203857845	813-758-5345 813-333-5949 freshstandevelop@yaho	p.com		Hill.	
S	Garden Smith 4113 Henderson Blvd., Tampa, FL 33629	CF		E,P	N
273649269	813-352-3008 gardensmith@me.com		1		
	Grass & Landscaping Hunters LLC 914 Burlwood St., Brandon, FL 33511	BM ()	***	E _I P _I	N
	B13-770-6795 grasslandscapinghunters@hotmail.com				
S	Green Expectations Landscaping LLC 37609 Eiland Blvd., Zephyrhills, FL 33542	HM		E,P	N
	813-782-6263 813-315-6461 info@gxlfl.com				
S	Johnson's Excavation & Services, Inc.	CM		E,P	N
	1706 East Trapnell Rd., Plant City, FL 33566 813-752-7097	n			
	ertified that the information provided is an accurate and true on this opntract. Name/Title:Dannie			ations for s	

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.: 21-C-00018 Contract Name: Citywide Meter, Hydrant and Valve Installation and Replacement-FY2021										
Company Na	Company Name: RTD Construction, Inc. Address: P.O. Box 2439, Zephyrhills, FL 33539-2439									
Federal ID:	59-3223426 Phone:813-783-9119 Fax: 813-7	<u>'83-9333</u> Ema	ail: di@rtdcor	struction.	com					
Check applicable box(es). Detailed Instructions for completing this form are on page 2 of 4. [] No Firms were contacted or solicited for this contract. [] No Firms were contacted because: [] See attached list of additional Firms solicited and all supplemental information (List must comply to this form) Note: Form MBD-10 must list ALL subcontractors solicited including Non-minority/small businesses										
NIGP Code Catego	ries: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects =	906, Engineers & Survey	ors = 925, Suppli	er = 912-77						
S = SLBE W=WMBE O = Neither	Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am. HF HM = Hispanic AF AM = Asian Am.	Trade or Services NIGP Code	Contact Method L=Letter F=Fax	Quote or Response Received					
Federal ID	riidie, ras, ciiaii	NF NM = Native Am. CF CM = Caucasian	(listed above)	E=Email P=Phone	Y/N					
S	UTCM Inc.	CF		E,P	NN					
562418914	817 S MacDill Ave., Tampa, FL 33609 813-935-7724 office@lawnsculptures.net									
S	Moses & Wourman Maintenance Inc.	вм		E,P	N					
650105210	13014 N. Dale Mabry Ste 136 Tampa, FL 33618 813-244-7134 813-920-1430 ctmoses 11@msn.com				3 3 r ²					
S	Nelson's Tree Farm and Nursery, Inc.	HF		E,P	N					
593404710	5027 N Lois Ave., Tampa, FL 33614 813-842-4663 813-350-9139 kimberly martinez33@g	mail.com			i					
S	Rodriguez Sod Ranch Inc.	НМ	*	E,P	N					
455303273	7608 W Linebaugh Ave., Tampa, FL 33625 813-886-2163 rodriguezsodranch@yahoo.com				10					
	Sunbelt Sod & Grading Company 819- 9th St. N.E., Ruskin, FL 33570	CF		E,P	Υ					
	813-641-9855 813-645-7263 Sunbeltsod@Verizon.ne									
S	T.C.C Enterprise Inc.	BF		E,P	N					
	3902 E Powhatan Ave., Tampa, FL 33610 813-606-9148 813-237-0396 tcc_inc@live.com									
S	Trimen Precision Lawn Care, LLC 1004 Lady Guinevere Dr., Valrico, FL 33594	ВМ		E,P	N					
474625126	813-863-9328 account@trimenlawn.com									

It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract.

Signed:

Name/Title: Dannie E. Jordan, President

Date: 5/11/2021

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Company Na	21-C-00018 Contract Name: Citywide Meter, Hydrome: RTD Construction, Inc. Address:	P.O. Box 2439, Ze			39
Federal ID:_			ail: di@rtdco		
[] No Firms [] No Firms [] See attac Note: Form	able box(es). Detailed Instructions for completing this were contacted or solicited for this contract. were contacted because: hed list of additional Firms solicited and all supple MBD-10 must list ALL subcontractors solicited including Notices: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects	mental information-minority/small busi	n (List must		this form)
S = SLBE		Type of Ownership	Trade or	Contact	Quote
W=WMBE O = Neither	Company Name	(F=Female M=Male) BF BM = African Am.	Services	Method L=Letter	or
Federal ID	Address Phone, Fax, Email	HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	NIGP Code (fisted above)	F=Fax E=Email P=Phone	Response Received Y/N
S	WC Boxes, Inc.	ВМ		E,P	N
472682190	17620 Lake Key Drive, Odessa, FL 33556 813-478-1102 813-864-4386 wcindustries2003@gma	nil.com			
S	Williams Landscape Management Co., Inc.	ВМ		E,P	N
593516370	5710 N 50th St., Tampa, FL 33610 B13-628-8048 813-628-8041 itonywilliams@wimsian	dscape.com		2.5	
S	Works of Nature, LLC	вм		E,P	N
314965789	1016 E. 33rd Ave., Tampa, FL 33603		1.	1 2 2 2 2	3
S	A Business Forms & Pegboard Systems, Ihc.	CF		E.P.	N
591559977	3104 North Armenia Ave, Ste 2, Tampa, FL 33607 813-933-2788 social@amediamarketing.com				
S	Frederick Communications & Consulting, LLO	HE		E)P	N
800240902	3853 Northdale Blvd. # 112,Tampa, FL 33624 813-758-9149	ions@gmail.com			
S	Kerrick Williams Photography, LLC	ВМ		E,P	N
272468473	5508 N. 50th St., Tampa, FL 33610 404-966-8145 866-571-7149 kerrick@kerrickwilliams	s.com			
S	Licencia Para Divertirse	HF		E,P	N
454690994	16814 LE Clare Shores Dr., Tampa, FL 3362 B13-992-3110 vanessachuas@hotmail.com				

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal

Name/Title:Dannie E. Jordan, President

Date:5/11/2021

Signed:



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.: 21-C-00018 Contract Name: Citywide Meter, Hydrant and Valve Installation and Replacement-FY2021								
Company Name: RTD Construction, Inc. Address: P.O. Box 2439, Zephyrhills, FL 33539-2439								
Federal ID: 59-3223426 Phone:813-783-9119 Fax: 813-783-9333 Email: di@rtdconstruction.com								
Check applicable box(es). Detailed Instructions for completing this form are on page 2 of 4. [] No Firms were contacted or solicited for this contract. [] No Firms were contacted because: [] See attached list of additional Firms solicited and all supplemental information (List must comply to this form) Note: Form MBD-10 must list ALL subcontractors solicited including Non-minority/small businesses NIGP Code Categories: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects = 906, Engineers & Surveyors = 925, Supplier = 912-77								
S = SLBE W=WMBE O = Neither Federal ID	Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am. HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	Trade or Services NIGP Code (listed above)	Contact Method L=Letter F=Fax E=Email P=Phone	Quote or Response Received Y/N			
S	Renker Eich Parks Architects Inc.	CM		E,P	N			
592755330	1609 Dr. MLK Jr. St. N., St. Petersburg, FL 33704 727-821-2986 727-896-4911 rheadland@reparch.com							
S	Rich & Company Florida, LLC	ВМ		E,P	N			
824538175	14245 Alistar Manor Dr., Wimauma, FL 33598 727-351-2243 richandcofl@gmail.com			4 , 1 1 2	1 1			
S	Shine Photo Entertainment 9506 Amberdale Ct. 201, Riverview, FL 33578	bf	2 *	E,P	N .			
820853961	813-638-1602 hello@shinephotoentertainment.com		n 2 1		. 1			
S	Snappy Plum Photos 2780 E. Fowler Ave. #243, Tampa, FL 33612	BF		E.P.	N			
821760273	253-222-4737 snappyplumphotos@gmail.com		,					
S	Uppercase, Inc. 5108 N. Nebraska Ave., Tampa, FL 33603	CM	i high	E _P	N			
262817255	813-226-3096 matt@uppercaseincorporated.com							
S	Warped Vision LLC 9212 Freedom Hil Dr., Seffner, FL 33584	BM		E,P	N			
833373824	813-361-1679 studio@warpedvision.org							
S	JNandlal Maintenance Services of Brandon, LLC 3008 King Phillip Way, Sefner, FL 33584	СМ		E.P	N			
760821184	813-670-7760 813-664-7675 james Nandjal@men.com	J						

It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract.

Signed:

Name/Title: Dannie E. Jordan, President

Pate: 5/11/2021

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal



Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Company Name, RTD Construction, Inc. Address; P.O. Box 2439, Zephyrhills, FL 33539-2439 Federal ID: 59-3233426 Phone:813-783-9119 Fax: 813-783-9333 Email: di@ndconstruction.com Check applicable bx(es), Detailed Instructions for completing this form are on page 2 of 4. [] No Firms were contacted or solicited for this contract. [] No Firms were contacted because: [] See attached list of additional Firms solicited and all supplemental information (List must comply to this form) Note: Form MBD-10 must list ALL subcontractors solicited including Non-minority/amail businesses NIGP Cosc diagnoses: Buildings 9:09, General 9:12, Heavy 9:13, Trades 9:14, Architects 9:00, Engineers & Surveyors 9:25, Suppler 9:12:77 S=SLBE W-WMBE O=Nether Phone, Fax, Email Phone	Contract No.:	21-C-00018 Contract Name: Citywide Meter, Hydrant	and Valve Installation	and Replacem	ent-FY2021				
Check applicable box(es). Detailed Instructions for completing this form are on page 2 of 4. [] No Firms were contacted or solicited for this contract. [] No Firms were contacted because: [] See attached list of additional Firms solicited and all supplemental information (List must comply to this form) Note: Form MBD-10 must list ALL subcontractors solicited including Non-minority/smail businesses NIGP Code Categories: Buildings = 909. General = 912, Heavy = 913, Trades = 914, Architects = 906. Engineers & Surveyors = 925, Supplier = 912.77 S = SLBE W=WMBE O = Neither Phone, Fax, Email Phone Phon									
[] No Firms were contacted or solicited for this contract. [] No Firms were contacted because: [] See attached list of additional Firms solicited and all supplemental information (List must comply to this form) Note: Form MBD-10 must list ALL subcontractors solicited including Non-minority/amail businesses NIGP Code Categories: Buildings = 909. General = 912. Heavy = 913. Trades = 914. Architects = 906. Engineers & Surveyors = 925. Supplier = 912-77 S = SLBE Wind MBE Oon Neither Address Phone, Fax, Email Phone, Fix, Email P	Federal ID: <u>59-3223426</u> Phone:813-783-9119 Fax: <u>813-783-9333</u> Email: <u>di@rtdconstruction.com</u>								
Weither Company Name Address Phone, Fax, Email Brain Andress Phone, Fax, Email Brain Address P	[] No Firms [] No Firms [] See attac Note: Form	were contacted or solicited for this contract. were contacted because: hed list of additional Firms solicited and all supplemental must list ALL subcontractors solicited including Non-	ental information minority/small busin	(List must		this form)			
Company Name Address Phone, Fax, Email Federal ID Aviman Management, LLC S50 N. Reo Street, Tampa, FL 33609 320098022 O Aviman Management, LLC S50 N. Reo Street, Tampa, FL 33609 320098022 O Terrell Industries, Inc. 2067 1st Ave. N., St. Petersburg, FL 33713 650530148 O Denson Construction, Inc. 4270 Holden Rd., Lakeland; FL133811 593571944 S63-709-1001 B63-709-1071 pete@denson-construction.com D Excel 4 LLC 318 N John Young Pkway Suite #6, Kissimmee, FL 34741 454149326 O Twenty-Nine 11 Property Services LLC 31336 Ogador Dr., Riverview, FL 33579 841949792 B13-420-4987 twentynine11 propertyservices@gmail.com D LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-8936 407-290-1217 lynn@mimsconstruction.com S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 B13-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this/contract. Signed: Name/Title:Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	S = SLBE			Trade or	Contact	Ouata			
Address Phone, Fax, Email Phone, Fax, Email Address Phone, Fax, Email Phone, Fax, Email AM = Asian An NF NM = Native Am (listed above) Aviman Management, LLC 550 N. Reo Street, Tampa, FL 33609 320098022 320098022 O Terrell Industries, Inc. 2067 1st Ave. N., St. Petersburg., FL 33713 650530148 O Denson Construction, Inc. 4270 Holden Rd., Lakeland, RL 33811 650530148 O Denson Construction, Inc. 4270 Holden Rd., Lakeland, RL 33811 6505371944 O Excel 4 LLC 318 N. John Young Pkway Suite #6, Kissimmee, FL 34741 407-480-8976 407-480-8976 excek4kkc@yahoo.cpm O Twenty-Nine 11 Property Services, LLC 13738 Ogakor Dr., Riverview, FL 33579 841949792 BF BF E,P N 19 Spine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.cpm S MBE Supply of Florida, Inc. 463284565 MBE Supply of Florida, Inc. 463284565 BF E,P N It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive		Company Name		Services	Standing Control 1				
Federal ID Phone, Fax, Email No. F. N. R Naube Am. (listed above) P-Phone No. F. N. R Naube Am. (listed above) P-Phone No. F. N. R Naube Am. (listed above) P-Phone No. Rec Street, Tampa, FL 33609 320098022 302-377-5788 302-543-7403 levi@avimanmanagement com O Terrell Industries, Inc. 2067 1st Ave. N., St. Petersburg, FL 33713 650530148 727-823-4424 727-823-3977 gradyterrell@terrellindustries.com O Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL133811 593571944 653-709-1001 863-709-1071 pete@denson-construction.com O Excel 4 LLC 318 N. John Young Pkway Suite #6, Klasimmee, FL 34741 407-480-8976 407-480-8976 excekekkc@yshoo.com O Twenty-Nine 11 Property Services. LLC 13736 Ogakor Dr., Riverview, FL 33579 841949792 813-420-4987 twentynine11propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.com S MBE Supply of Florida, Inc. 463284565 S MBE Supply of Florida, Inc. 463284565 S MBE Supply of Florida, Inc. 463284565 Name/Title:Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	O = Neitner	· · · · · · · · · · · · · · · · · · ·	HF HM = Hispanic	NIGP Code	The second secon				
550 N. Reo Street, Tampa, FL 33609 302-377-5788 302-543-7403 levi@avimanmanagement.com O Terrell Industries, Inc. 2067 1st Ave. N., St. Petersburg, FL 33713 650530148 727-823-4424 727-823-3977 gradyterrell@terrellindustries.com O Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL133811 693571944 863-709-1001 863-709-1071 pete@denson-construction.com O Excel 4 LLC 318 N. John Young Pkway Suite #6, Kissimmee, FL 34741 454149326 407-480-8976 407-480-8976 excek4kkc@yahoo.com O Twenty-Nine 11 Property Services, LLC 13736 Ogakor Dr., Riverview, FL 33579 813-420-4987 twentynine11 propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.com S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this/contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	Federal ID	Phone, Fax, Email	NF NM = Native Am.	(listed	E=Email				
302-377-5788 302-543-7403 levi@avimanmanagement.com Terrell Industries, Inc. 2067 1st Ave. N., St. Petersburg, FL 33713 727-823-4424 727-823-3977 gradyterrell@terrellindustries.com. Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL 33811 593571944 863-709-1001 863-709-1071 pete@denson-construction.com Excel 4 LLC 318 N. John Young Pkway Suifte #6, Kissimmee, Ft. 34741 407-480-8976 407-480-8976 excek4kkc@yahoo.com Twenty-Nine 11 Property Services, LLC BF 841949792 813-420-4987 twentynine11propertyservices@gmail.com LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.com MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	0		ВМ		E,P	NNN			
2067 1st Ave. N., St. Petersburg, FL 33713 727-823-4424 727-823-3977 gradyterrell@terrellindustries.com Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL:33811 593571944 863-709-1001 863-709-1071 pete@denson-construction.com Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL:33811 593571944 863-709-1001 863-709-1071 pete@denson-construction.com Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL:33811 593571944 863-709-1001 863-709-1071 pete@denson-construction.com Denson Construction, Inc. 454149326 813-420-1001 863-709-1071 pete@denson-construction.com Denson Construction, Inc. 454149326 813-420-1001 863-709-1071 pete@denson-construction.com Denson Construction, Inc. 8MM	320098022								
O Denson Construction, Inc. 4270 Holden Rd., Lakeland, FL:33811 593571944 863-709-1001 863-709-1071 pete@denson-construction.com O Excel 4 LLC 318 N. John Young Pkway Suite #6, Kissimmee, FL:34741 407-480-8976 407-480-8976 excek4kkc@yahoo.com O Twenty-Nine 11 Property Services LLC 13736 Ogakor Dr., Riverview, FL:33579 841949792 813-420-4987 twentynine11 propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL:32811 407-298-6936 407-290-1217 lynn@mimsconstruction.com S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL:33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Fallure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	0		BM		E,P	N			
4270 Holden Rd., Lakeland, FL:33811 593571944 663-709-1001 863-709-1071 pete@denson-construction.com O	650530148	727-823-4424 727-823-3977 gradyterrell@terrellindust		. 1		111(
Secretary Secret		Denson Construction, Inc. 4270 Holden Rd., Lakeland, RL(33811)		11,		N			
318 N. John Young Pkway Suite #6, Kissimmee, FL 34741 407-480-8976 407-480-8976 excek4kkc@yahoo.com O Twenty-Nine 11 Property Services, U.C. 13736 Ogakor Dr., Riverview, FL 33579 841949792 813-420-4987 twentynine11propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.cpm S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title: Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	593571944	863-709-1001 863-709-1071 pete@denson-construction	n.com	1 / 6 %	ř				
407-480-8976 407-480-8976 excek4kkc@yahoo.com O Twenty-Nine 11 Property Services.ULC 13736 Ogakor Dr., Riverview, FL 33579 841949792 813-420-4987 twentynine11propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.com S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title: Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	0		1 1	17	E,P	N			
13736 Ogakor Dr., Riverview, FL 33579 841949792 813-420-4987 twentynine11propertyservices@gmail.com O LMCC Specialty Contractors 119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.cpm S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title: Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	454149326								
813-420-4987 twentynine11propertyservices@gmail.com Description Des	0	Twenty-Nine 11 Property Services, ULC	BF I III.	1 1111	E P	N			
119 S. Pine Hills Rd., Orlando, FL 32811 407-298-6936 407-290-1217 lynn@mimsconstruction.cpm S. MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	841949792		m						
S MBE Supply of Florida, Inc. 4306 W. Osborne Ave., Tampa, FL 33613 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	0		BF		E,P	N			
4306 W. Osborne Ave., Tampa, FL 33613 463284565 813-781-6583 mbesupplyofflorida@gmail.com It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title:Dannie E. Jordan, President Date:5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive	593442318	407-298-6936 407-290-1217 lynn@mimsconstruction.c							
It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract. Signed: Name/Title: Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive			CF		E,P	N			
Signed: Name/Title: Dannie E. Jordan, President Date: 5/11/2021 Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive									
Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive			account of contac	ts and solicita	ations for s	ub-contracting			
	Signed:								
COUSTILIST CONTROL WITH THE FOUNDAME	<u>Failui</u>			or Proposal	<u>non-Respo</u>	<u>nsive</u>			

MBD 10 rev/effective 02/2016



Page 3 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All To-Be-Utilized Sub-(Contractors/Consultants/Suppliers) (FORM MBD-20)

Contract No.: 21-C-00018 Contract Name: Citywide Meter, Hydrant and Valve Installation and Replacement-FY202									
Company Name: RTD Construction, Inc. Address: P.O. Box 2439, Zephyrhills, FL 33539-2439									
Federal ID:_	<u>59-3223426</u> Phone: <u>813-783-9119</u> Fax: <u>81</u>	3-783-9333 E	mail: <u>dj@rtc</u>	<u>lconstructio</u>	n.com				
Check applicable box(es). Detailed Instructions for completing this form are on page 4 of 4. [] See attached list of additional Firms Utilized and all supplemental information (List must comply to this form) Note: Form MBD-20 must list ALL subcontractors To-Be-Utilized including Non-minority/small businesses [] No Subcontracting/consulting (of any kind) will be performed on this contract. [] No Firms are listed to be utilized because:									
	NIGP Code General Categories: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects = 906, Engineers & Surveyors = 925, Supplier = 912-77								
S = SLBE W=WMBE O =Neither Federal ID	nter "S" for firms Certified as Small Local Business Enterprises, "W" for firms C Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am. HF HM = Hispanic Am. AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	siness Enterprise Trade, Services, or Materials NIGP Code Listed above	\$ Amount of Quote. Letter of Intent (LOI) if available	Percent of Scope or Contract %				
	SUCA PIPE SUPPLY, INC. 4910 LOWELL RD., TAMPA, FL 33624 813-249-7902 SLMAU44@YAHOO.COM	BM	Pipe t Filling	39i,ca	8.26%				
S 810763816	Comerstone Barricades, Inc. 3201 SW 42nd St. Gainesville, FL 32608 352-373-8001 352-377-8976 seyi.falade@comers	BM tonebarricades.com	McT	75ac	1.59%				
	Beato Group 8961 Turnstone Haven Place, Tampa, FL 3 813-252-0196 info@beatogroup.com	HM 33619	Mot	150,000	3.187.				
0 271602 3 19	the Triping	CM	Het tap Line Sich	50,cc	1 Ole 1.				
0 65033631H		i CM	Hot top line stop	5,,00	1.067,				
0 593449545	1508 E. Dr. MIK JR BYCK JEHR H3 813-684 aara 813-641 3350	CM	Directional Drill	75,000	1.597.				
Total ALL Subcontract / Supplier Utilization \$ \(\frac{\psi 40}{000} \) Total SLBE Utilization \$ \(\frac{\psi 000}{000} \) Total WMBE Utilization \$ \(\frac{\psi 000}{000} \) Percent SLBE Utilization of Total Bid/Proposal Amt. 3.18% Percent WMBE Utilization of Total Bid/Proposal Amt. \(\frac{\psi 87}{000} \)									
It is hereby certification of the Signed:	ned that the following information is altrue and accurate accour	it of utilization for sub-co nnie E. Jordan, Pre		ortunities on th					
Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive Forms must be included with Bid / Proposal									

TAMPA BID BOND Contract 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021

KNOW ALL MEN BY THESE PRESENTS, to	nat we, RTD Construction, Inc.
38038 North Avenue, Zephyrhills, FL 33542	
(hereinafter called the Principal) and Liberty Mutu	al Insurance Company
MA, with its principal office business in the State of Florida, are held and firmly to County, Florida, in the full and just sum of 5% of the States of America, to be paid upon demand of the County.	chartered and existing under the laws of the State of ces in the City of Boston, MA , and authorized to do bound unto the City of Tampa, a Municipal Corporation of Hillsborough a amount of the (Bid) (Proposal) good and lawful money of the United City of Tampa, Florida, to which payment will and truly to be made we so, successors, and assigns, jointly and severally and firmly these
	it, or has submitted to the City of Tampa, Florida, a Proposal for the d Contract 21-C-00018, Citywide Meter, Hydrant and Valve Installation
WHEREAS, the Principal desires to file th otherwise required to accompany this Proposal.	is Bond in accordance with law, in lieu of a certified Bidder's check
shall, within twenty (20) days after the date of receip Proposal and upon the terms, conditions and price so Florida and execute a sufficient and satisfactory Pramount of one hundred percent (100%) of the total could be Bid Bond obligation is to be void; otherwise to be and of the Principal to comply with any or all of the foreg	is obligation are such that if the Proposal be accepted, the Principal of of written Notice of Award, execute a contract in accordance with the set forth therein, in the form and manner required by the City of Tampa, ablic Construction Bond payable to the City of Tampa, Florida in an ontract price, in form and with security satisfactory to said City, then this remain in full force and virtue in law, and the Surety shall, upon failure oing requirements within the time specified above, immediately pay to f, in good and lawful money of the United States of America, not as a
IN TESTIMONY THEREOF, the Principal an 11th day of May 20 21.	d Surety have caused these presents to be duly signed and sealed this
Principal	RTD Construction, Inc. BY Apple
	TITLE Dannie E. Jordan, President Liberty Mutual Insurance Company BY TITLE Susan L. Reich, Attorney-In-Fact
(SEAL)	Susan L. Reich, FL Lic. Resident Agent Producing Agent
	620 N. Wymore Rd., #200, Maitland, FL 32751, (407) 786-7770 Producing Agent's Address
	Florida Surety Bonds, Inc. Name of Agency
The addition of such phrases as "not to exceed" or like	e import shall render the (Bid) (Proposal)non-responsive.



This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

Liberty Mutual Insurance Company The Ohio Casualty Insurance Company West American Insurance Company

Certificate No: 8204940- 979598

POWER OF ATTORNEY

KNOWN ALL PERSONS BY THESE PRESENTS: That The Ohio Casualty Insurance Company is a corporation duly organized under the laws of the State of New Hampshire, that
Liberty Mutual Insurance Company is a corporation duly organized under the laws of the State of Massachusetts, and West American Insurance Company is a corporation duly organized
under the laws of the State of Indiana (herein collectively called the "Companies"), pursuant to and by authority herein set forth, does hereby name, constitute and appoint, Brianna T.
Stephenson; Cheryl Foley; Coralise M. Medal; Emily J. Golecki, Gloria A. Richards; Hieneka C. Harrington; Jeffrey W. Reich; Jenna R. Delgado; Kim E. Niv; Lisa A.
Roseland, Robert P. O'Linn, Sarah K. O'Linn, Susan L. Reich, Teresa L. Durham

all of the city of	Maitland	state of	FL	each individually if there be more than one named, its true and lawful attorney-in-fact to make,
execute, seal, ackn	owledge and deliver, for and	on its behalf as sur	ety and as its act	and deed, any and all undertakings, bonds, recognizances and other surety obligations, in pursuance
of these presents a	and shall be as binding upon	the Companies as	if they have been	en duly signed by the president and attested by the secretary of the Companies in their own proper
persons.				

IN WITNESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Companies and the corporate seals of the Companies have been affixed thereto this 2nd day of March 2021





Liberty Mutual Insurance Company The Ohio Casualty Insurance Company West American Insurance Company

David M. Carey, Assistant Secretary

State of PENNSYLVANIA County of MONTGOMERY

nd/or Power of Attomey (POA) verification inquiries, 610-832-8240 or email HOSUR@libertymutual.com 2021 before me personally appeared David M. Cerey, who acknowledged himself to be the Assistant Secretary of Liberty Mutual Insurance March Company, The Ohio Casualty Company, and West American Insurance Company, and that he, as such, being authorized so to do, execute the foregoing instrument for the purposes therein contained by signing on behalf of the corporations by himself as a duly authorized officer.

IN WITNESS WHEREOF, I have hereunto subscribed my name and affixed my notarial seal at King of Prussia, Pennsylvania, on the day and year first above written.



Commission number 11260-

This Power of Attorney is made and executed pursuant to and by authority of the following By-laws and Authorizations of The Ohio Casualty Insurance Company, Liberty Mutual Insurance Company, and West American Insurance Company which resolutions are now in full force and effect reading as follows:

ARTICLE IV - OFFICERS: Section 12. Power of Attorney.

Any officer or other official of the Corporation authorized for that purpose in writing by the Chairman or the President, and subject to such limitation as the Chairman or the President may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Corporation to make, execute, seal, acknowledge and deliver as surety bond ar any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys-in-fact, subject to the limitations set forth in their respective powers of attorney, shall For bon please (have full power to bind the Corporation by their signature and execution of any such instruments and to attach thereto the seal of the Corporation. When so executed, such instruments shall be as binding as if signed by the President and attested to by the Secretary. Any power or authority granted to any representative or attorney in-fact under the provisions of this article may be revoked at any time by the Board, the Chairman, the President or by the officer or officers granting such power or authority.

ARTICLE XIII - Execution of Contracts: Section 5. Surety Bonds and Undertakings.

Any officer of the Company authorized for that purpose in writing by the chairman or the president, and subject to such limitations as the chairman or the president may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Company to make, execute, seal, acknowledge and deliver as surely any and all undertakings, bonds, recognizances and other surety obligations. Such attorneys in-fact subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Company by their signature and execution of any such instruments and to attach thereto the seal of the Company. When so executed such instruments shall be as binding as if signed by the president and attested by the secretary.

Certificate of Designation - The President of the Company, acting pursuant to the Bylaws of the Company, authorizes David M. Carey, Assistant Secretary to appoint such attorneys-infact as may be necessary to act on behalf of the Company to make, execute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations.

Authorization - By unanimous consent of the Company's Board of Directors, the Company consents that facsimile or mechanically reproduced signature of any assistant secretary of the Company, wherever appearing upon a certified copy of any power of attorney issued by the Company in connection with surely bonds, shall be valid and binding upon the Company with the same force and effect as though manually affixed.

I, Renee C. Llewellyn, the undersigned, Assistant Secretary, The Ohio Casualty Insurance Company, Liberty Mutual Insurance Company, and West American tosurance Company do hereby certify that the original power of attorney of which the foregoing is a full, true and correct copy of the Power of Attorney executed by said Companies, is in full force and effect and has not been revoked.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed the seals of said Companies this 11th 2021 day of May









Equal Business Opportunity Gregory K. Hart, Manager

306 East Jackson Street, 3N Tampa, Florida 33602

> Office (813) 274-5522 Fax: (813) 274-5544

DATE: June 17, 2021

TO: Michael Chucran, Director, Contract Administration Department

FROM: Gregory K. Hart, Manager

RE: EBO Bid Compliance Evaluation - GFECP Solicitation and Utilization Audit

PROJECT: 21-C-00018 Citywide Meter, Hydrant and Valve Installation and Replacement – FY2021

LOW BIDDER: RTD Construction, Inc.

BID AMOUNT: \$4,710,072.00

U-WMBE/SLBE Subcontract Goal: 13.0% U-WMBE/SLBE Goal Attainment: 13.0%

Good Faith Effort Compliance: Compliant-Met Requirements

The Equal Business Opportunity Office evaluated the Good Faith Effort Compliance Plan (GFECP) submitted by Low bidder RTD Construction, Inc and determined they complied with the requirements of the Equal Business Opportunity Program (EBO) at time of bid by having performed meaningful action steps to (a) identify and (b) directly solicit Underutilized-WMBE and SLBE eligible companies to quote divisions of work commensurate with the participation goal. The project goal was narrowly-tailored on the basis of nine (9) out of twelve (12) subcontract categories wherein the requisite, eligible U-WMBE and SLBE companies represented a minimum availability group of sixty (60+) firms, within an overall availability group of one hundred (100+) available COT certified companies by subcontract tasks.

NOTE: The subcontract goal is narrowly tailored (per policy) to target underutilization of affected groups in specific trade/industry categories. Any WMBE/SLBE achievement that was not a variable in calculation of the narrowly tailored goal is considered ancillary. Ancillary participation cannot be credited toward meeting the narrowly tailored goal but may count toward the bidder's overall project participation when GFECP criteria for the underutilized group are met.

U-WMBE/SLBE Subcontract Goal Attainment

Certification Type	Classification	Classification	Totals .
U-WMBE / SLBE	Dual BBE/SLBE	Dual HBE/SLBE	
	9.87%	3.18	13.05%

Ancillary Participation

	· ····································	
Certification Type	Classification	Totals
WMBE	-0-	-0-

<u>Compliance Statement:</u> Total U-WMBE/SLBE participation is 13% representing 9.87% BBE (Black Business Enterprise) and 3.18% HBE (Hispanic Business Enterprise).

Gregory Hart Gregory K. Hart, MPA, CPPA GKH:/RT

The state of the s	tampagov.net	
--	--------------	--

PROPOSAL

To	the Mayor and City Council of the City of Tampa, Florida:
Le	egal Name of Bidder: Kimmins Contracting Corp.
Bi	dder's Fictitious Name, if applicable:
Bi	dder is a/an: Individual I Partnership* I Joint Venture* LLC V Corp. Other:
Bio	dder is organized under the laws of: State of Florida Other:
	dder Mailing Address: 1501 E. 2nd Avenue Tampa, Florida 33605
Bi	dder's Federal Employee Identification No. (FEI/EIN):16-0810270
	dder's License No.: CGC061458 Bidder's FDOS (SUNBIZ) Doc. No.: G41069 (See Ch. 489, FS; use entity's, individual's only if applicable)
Bio	dder Contact Name**: John Zemina Email: jzemina@kimmins.com Phone: (813) 247.0147 / 813.924.5010
Ch as	dder's own initial application for employment has criminal history screening practices similar in nature to the practices contained in napter 12, Article VI, City of Tampa Code (Responses, whether "Yes" or "No", are for informational purposes only and will not be used a basis of award or denial, nor as a basis for any protest): Yes No
	e below named person, appearing before the undersigned authority and after being first duly sworn, for him/herself and on behalf of e entity submitting this Proposal does hereby affirm and declare as follows:
(1)	He/She is of lawful age and is authorized to act on behalf of Bidder (the individual, partnership, corporation, entity, etc. submitting this Proposal) and that all statements made in this document are true and correct to the best of my knowledge.
(2)	If Bidder is operating under a fictitious name, Bidder has currently complied with any and all laws and procedures governing the operation of businesses under fictitious names in the State of Florida
(3)	No person or entity other than Bidder has any interest in this Proposal or in the Contract proposed to be entered into.
(4)	This Proposal is made without any understanding, agreement, or connection with any person or entity making Proposal for the same purposes, and is in all respects fair and without collusion or fraud.
(5)	Bidder is not in arrears to the City of Tampa, upon debt or contract, and is not a defaulter, as surety or otherwise, upon any obligation to the City of Tampa.
(6)	That no officer or employee or person whose salary is payable in whole or in part from the City Treasury is, shall be or become interested, directly or indirectly, as a contracting party, partner, stockholder, surety or otherwise, in this Proposal, or in the performance of the Contract, or in the supplies, materials, or equipment and work or labor to which it relates, or in any portion of the profits thereof.
(7)	Bidder has carefully examined and fully understands the Solicitation and has full knowledge of the scope, nature, and quality of the work to be performed; furthermore, Bidder has carefully examined the site of the work and that, from his own investigations, he has satisfied himself as to the nature and location of the work, the character, quality, and quantity of materials and the kinds and extent of equipment and other facilities needed for the performance of the work, the general and local conditions and all difficulties to be encountered, and all other items which may, in any way, affect the work or its performance.
(8)	Bidder (including its principals) I has Thas NOT been debarred or suspended from contracting with a public entity.
(9)	Bidder Mas As NOT implemented a drug-free workplace program that meets the requirements of Section 287.087, Florida Statutes.
(10)	Bidder has carefully examined and fully understands all the component parts of the Contract Documents and agrees Bidder will execute the Contract, provide the required Public Construction Bond, and will fully perform the work in strict accordance with the

* If a Partnership or Joint Venture, attach Partnership or Joint Venture Agreement.

terms of the Contract and Contract Documents therein referred to for the following prices, to wit:

^{**} Someone the City may contact with questions/correspondence regarding this Solicitation and/or permits.

Computed T	otal Price in Words: Five Millio	on One Hundred Fifty-0	ne Thousand Five	Hundred Fifty-S	ix
			ollars and No		cents.
Computed T	otal Price in Figures: \$ 5,151,5	56.00			
taken into ad	owledges that the following adoccount in this proposal: #1	#2 👤 #3 👤 #4	#5 #6 #	£7 #8	addendum(s) have been
Bidder acknowled together with included in the	owledges that it is aware of Floric any involved subcontractors wine various items of this Proposal or identifies the costs and method	da's Trench Safety Act (Sec Il comply with all applicable and the total bid price (as	ctions 553.60-553.64, trench safety standar	Florida Statutes), a ds. Bidder further a	cknowledges that
	Trench Safety Measure (Description)	Unit of Measure (LF, SY)	Unit Quantity	Unit Cost	Extended Cost
A. Slo	pe/Layback	LF	50	\$ 15.00	\$ 750.00
B. Box	x/Shield	LF	50	\$ 15.00	\$ 750.00
C. She	oring/Sheeting	SY	45	\$135.00	\$6,075.00
			Total Cost: \$	7,575.00	
	ard by the City so to do. LURE TO COMPLETE THE ABOUTE [SEAL]	Name of Bid Authorized S Signer's Prir	der: Kimmins Co	ntracting Corp.	RESPONSIVE.
STATE OF	Florida	oignor a vis		<u> </u>	
COUNTY OF					
For an entity:	The forgoing instrument was presence or ☐ online nota by ☐ John Zer of ☐ Kimmins Contract ☐ Other: ☐ Identification. Type of Iden	rization, this 11th nina ing Corp. , on behalf of such entity	day ofMa asyice Pre , a/n □ Part . Such individual is	esident Inership :: Joint V Personally Known	201, enture ⊖ LLC √Corp
For an individual:	The forgoing instrument was presence or □ online nota By Produced Identification. Ty	rization, this	day of	. 20	20 .
	[NOTARY SEAL] COLLEEN Notary Public -	M. SIMON State of Florida # GG 190456 res Jun 17, 2022	Notary Public Notary Printed Commission I	State of Flo Name: Col No.: GG on Expires: 6/1	rida Ileen M. Simon 190466

	_		Approx.				
Item No.	Description	Unit	Quantity	Unit Price in Words		Unit Price	Total Computed Price
	ENGINEER'S ESTIMATE					tited I	
2100	F&I 4" ductile iron pipe	LF		One Hundred Forty-One Dollars	\$	141.00 \$	28,200.00
2102	F&I 6" ductile iron pipe	LF		One Hundred Forty-Seven Dollars	\$	147.00 \$	147,000.00
2104	F&I 8" ductile iron pipe	LF		One Hundred Fifty-Five Dollars	\$	155.00 \$	77,500.00
2105	F&I 10" ductile iron pipe	LF		One Hundred Fifty Dollars	\$	150.00 \$	15,000.00
2106	F&I 12" ductile iron pipe	LF		Two Hundred Thirty-Eight Dollars	\$	238.00 \$	47,600.00
2108	F&I 16" ductile iron pipe	LF	200	Two Hundred Ninety-Eight Dollars	\$	298.00 \$	59,600.0
2149	F&I 2" PVC pipe and fittings at various depths	LF		Forty-One Dollars	\$	41.00 \$	20,500.0
2150	F&I 4" PVC pipe	LF		Eighty-Six Dollars	\$	86.00 \$	8,600.0
2152	F&I 6" PVC pipe	LF		Ninety-Two Dollars	\$	92.00 \$	92,000.0
2154	F&I 8" PVC pipe	LF	500	Ninety-One Dollars	\$	91.00\$	45,500.0
2156	F&I 12" PVC pipe	LF	100	One Hundred Thirty-Three Dollars	\$	133.00 \$	13,300.0
2158	F&I 16" PVC pipe	LF	100	One Hundred Thirty-Four Dollars	\$	134.00 \$	13,400.0
2200	F&I 2" HDPE w/HDPE transitions adapters at various depths	LF	500	Forty-Two Dollars	\$	42.00 \$	21,000.00
2201	F&I 4" HDPE pipe by HDD at variuos depths	LF	100	Eighty Dollars	15	80.00\$	8,000.00
2202	F&I 6" HDPE pipe by HDD at variuos depths	LF	500	Eighty-Six Dollars	\$	86.00 \$	43,000.00
2203	F&I 8" HDPE pipe by HDD at variuos depths	LF	100	Ninety-Five Dollars	\$	95.00 \$	9,500.00
2300	Furnish, install and remove 2-inch temporary service line	LF		Eighty Dollars	5	80.00\$	16,000.00
2500	Removal of abandoned pipe 3" and smaller in diameter	LF		Eighty-Five Dollars	S	85.00 s	170.00
2501	Removal of abandoned pipe 4" - 10" in diameter	LF	2	Two Hundred Eighty-Three Dollars	3	283.00 \$	566.00
	Cut and plug 3" and smaller in diameter pipe, to include meter services				\Box		
2600	lines	EA	300	Five Hundred Six Dollars	\$	506.00\$	151,800.00
2601	Cut and plug 4", 6" and 8" diameter pipe	EA	10	One Thousand One Hundred Twenty-One Dollars	5	1,121.00 \$	11,210.00
2602	Cut and plug 10", 12" and 16" diameter pipe	EA	5	Two Thousand Four Hundred Fifty-Nine Dollars	\$	2,459.00 \$	12,295.00
	Make tap and furnish materials to connect 3" and smaller water mains to			1			
2800	new/existing mains (0-15 ft. in length)	EA	5	Two Thousand Three Hundred Ninety-Eight Dollars	\$	2,398.00\$	11,990.00
	Make tap and furnish materials to connect 3" and smaller water mains to			7.			
2801	new/existing mains (more than 15 ft. in length)	EA	5	Three Thousand Nine Hundred Sixty-Three Dollars	\$	3,963.00\$	19,815.00
3000	F&I 4" wedge-action MJ or flange restraint	EA		Fifty-Two Dollars	s	52.00 s	520.00
3001	F&I 6" wedge-action MJ or flange restraint	EA		Sixty-Three Dollars	s	63.00 s	630.0
3002	F&I 8" wedge-action MJ or flange restraint	EA		Ninety Dollars	\$	90.00 \$	900.0
3003	F&I 10" wedge-action MJ or flange restraint	EA		One Hundred Forty-Seven Dollars	3	147.00 s	1,470.00
3004	F&I 12" wedge-action MJ or flange restraint	EA		One Hundred Sixty-Five Dollars	\$	165.00 s	1,650.0
3005	F&I 14" wedge-action MJ or flange restraint	EA		Three Hundred Sixty-Seven Dollars	5	367.00 s	3,670.00
3006	F&I 16" wedge-action MJ or flange restraint	EA		Three Hundred Thirty-Two Dollars	\$	332.00 \$	3,320.0
3040	Furnish & install 4" bell and MJ restraint on existing pipe	EA		Nine Hundred Sixty-One Dollars	\$	961.00 s	5,766.0
3041	Furnish & install 6" bell and MJ restraint on existing pipe	EA		Nine Hundred Seventy-Four Dollars	S	974.00 s	19,480.0
3042	Furnish & install 8" bell and MJ restraint on existing pipe	EA		One Thousand Nine Hundred Twenty-Nine Dollars	3	1,929.00 s	38,580.0
3042	Furnish & install 10" bell and MJ restraint on existing pipe	EA		Two Thousand Three Dollars	5	2,003.00 \$	40,060.00
3043	Furnish & install 12" bell and MJ restraint on existing pipe	EA		Two Thousand Twenty Dollars	9	2,020.00 \$	
3044	i uman or natali 12. Deli and indirectallit off existing pipe	EA	20		9	2,020.043	10,400.0

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price	Total Computed Price
3045	Furnish & install 16" bell and MJ restraint on existing pipe	EA	10	Two Thousand Two Hundred Ninety-Six Dollars	\$	2,296.00 \$	22,960.00
3050	Furnish & install 4" wedge-action MJ restraint on new PVC pipe	EA	0.000	Fifty-Six Dollars	\$	56.00 \$	560.00
3051	Furnish & install 6" wedge-action MJ restraint on new PVC pipe	EA		Sixty-Nine Dollars	5	69.00 \$	690.00
3052	Furnish & install 8" wedge-action MJ restraint on new PVC pipe	EA		One Hundred Twenty-Nine Dollars	3	129.00 s	1,290.00
3053	Furnish & install 12" wedge-action MJ restraint on new PVC pipe	EA		One Hundred Seventy-Nine Dollars	\$	179.00 s	1,790,00
3054	Furnish & install 16" wedge-action MJ restraint on new PVC pipe	EA		Three Hundred Seventy-Nine Dollars	\$	379.00 s	3,790.00
3070	Furnish 4" push-on gasket (gripper-type) restraint	EA		One Hundred Seven Dollars	S	107.00 \$	3,210.00
3071	Furnish 6" push-on gasket (gripper-type) restraint	EA		One Hundred Forty-Nine Dollars	\$	149.00 \$	4,470.00
3072	Furnish 8" push-on gasket (gripper-type) restraint	EA		One Hundred Eighty-Eight Dollars	\$	188.00 s	5,640,00
3073	Furnish 12" push-on gasket (gripper-type) restraint	EA		Two Hundred Seventy-Eight Dollars	\$	278.00 s	8.340.00
3074	Furnish 16" push-on gasket (gripper-type) restraint	EA		Six Hundred Thirty-Four Dollars	\$	634.00 \$	19.020.00
4000	F&I 4" DI MJ plug or cap	EA		Three Hundred Ninety Dollars	3	390.00 \$	780.00
4001	F&I 4" DI MJ bend, offset, sleeve or reducer	EA		Seven Hundred Eighty-Seven Dollars	5	787.00 \$	1,574,00
4002	F&I 4" DI MJ tee	EA		Eight Hundred Sixteen Dollars	\$	816.00 \$	1,632.00
4003	F&I 4" (x 12") DI MJ offset	EA		Eight Hundred Sixty-Four Dollars	\$	864.00 \$	1,728.00
4004	F&I 6" DI MJ plug or cap	EA	2	Seven Hundred Seventy-Four Dollars	\$	774.00 s	1,548.00
4005	F&I 6" DI MJ bend, offset, sleeve or reducer	EA	10	One Thousand Five Dollars	\$	1,005.00 \$	10,050.00
4006	F&I 6" DI MJ tee	EA	5	Eight Hundred Eighty-Four Dollars	\$	884.00 \$	4,420.00
4007	F&I 6" (x 12") DI MJ offset	EA		Nine Hundred Fifty-Nine Dollars	\$	959.00 \$	1,918.00
4008	F&I 8" DI MJ plug or cap	EA		Eight Hundred Two Dollars	5	802.00 s	1,604.00
4009	F&I 8" DI MJ bend, offset, sleeve or reducer	EA	10	Eight Hundred Seventy-One Dollars	\$	871.00 s	8,710.00
4010.1	F&I 8" x 4" DI MJ tee	EA	2	Eight Hundred Ninety-Six Dollars	\$	896.00 s	1,792.00
4010.2	F&I 8" x 6" DI MJ tee	EA	2	Nine Hundred Twenty Dollars	\$	920.00 s	1,840.00
4010.3	F&I 8" x 8" DI MJ tee	EA	2	Nine Hundred Fifty-Nine Dollars	\$	959.00 \$	1,918.00
4011	F&I 8" (x 12") DI MJ offset	EA	2	One Thousand Fifty-Five Dollars	\$	1,055.00 \$	2,110.00
4012	F&I 12" D MJ plug or cap	EA	2.	Eight Hundred Sixty-Three Dollars	\$	863.00 \$	1,726.00
4013	F&I 12" DI MJ sleeve or reducer	EA	2	Nine Hundred Thirty-Three Dollars	\$	933.00 \$	1,866.00
4013.1	F&I 12" DI MJ 11.25°(or 22.5°) bend	EA	2	Nine Hundred Sixty Dollars	\$	960.00 \$	1,920.00
4013.2	F&I 12" 45° DI MJ bend	EA	2	One Thousand One Dollars	\$	1,001.00 \$	2,002.00
4013.3	F&I 12" 90° DI MJ bend	EA	2	One Thousand Fifty-Seven Dollars	\$	1,057.00 \$	2,114.00
4014.1	F&I 12" x 4" (or 6") DI MJ tee	EA	2	One Thousand Fifty-Six Dollars	\$	1,056.00 \$	2,112.00
4014.2	F&I 12" x 8" DI MJ tee	EA	2	One Thousand Eighty-Five Dollars	\$	1,085.00 \$	2,170.00
4014.3	F&I 12" x 12" DI MJ tee	EA	2	One Thousand One Hundred Eighty-Five Dollars	\$	1,185.00 \$	2,370.00
4015	F&I 12" (x 12") DI MJ offset	EA	2	One Thousand Four Hundred Three Dollars	\$	1,403.00 \$	2,806.00
4016	F&I 16" MJ DI MJ plug or cap	EA	2	One Thousand One Hundred Three Dollars	\$	1,103.00 \$	2,206.00
4017	F&I 16" DI MJ sleeve or reducer	EA	2	Two Thousand Five Hundred Six Dollars	\$	2,506.00 \$	5,012.00
4017.1	F&I 16" DI MJ 11.25° bend	EA	2	Two Thousand Six Hundred Twenty-Nine Dollars	\$	2,629.00 \$	5,258.00
4017.2	F&I 16" 22.5" DI MJ bend	EA	2	Two Thousand Six Hundred Dollars	5	2,600.00 \$	5,200.00
4017.3	F&I 16" 45° DI MJ bend	EA	2	Two Thousand Six Hundred Twenty-One Dollars	\$	2,621.00 \$	5,242.00
4017.4	F&I 16" 90" DI MJ bend	EA	2	Two Thousand Eight Hundred Thirty-Two Dollars	\$	2,832.00 \$	5,664.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price	Total Computed Price
4049.4	F&I 16" x 4" (or 6") DI MJ tee	1 54 1	offwn Thouse	and Seven Hundred Seventeen Dollars	Ie I	2,717.00 s	5,434.00
4018.1		EA		and Seven Hundred Eighty Dollars	\$	2,780.00 \$	5,560.00
4018.2	F&I 16" x 8" DI MJ tee	EA EA		and Nine Hundred Fourteen Dollars	\$	2,914.00 \$	5,828.00
4018.3	F&I 16" x 12" DI MJ tee	EA		sand One Hundred Twenty-Nine Dollars	\$	3,129.00 \$	6,258.00
4018.4	F&I 16" x 16" DI MJ tee			and Eight Hundred Seventeen Dollars	\$	2,817.00 \$	5,634.00
4019	F&I 16" (x 12") DI MJ offset	EA	2 I wo mouse	illu Eight Hundred Severilisen Donals	\$	2,017.00\$	5,034.00
5000	F&I Fire Hydrant Assembly	_,		10 11 10 10 10 10 10 10 10 10 10 10 10 1	s		
5000	(valve, tee/tap, and Gradelok fitting paid separate)	EA		nd One Hundred Sixteen Dollars Ired Forty-Seven Dollars		5,116.00 \$ 747.00 \$	153,480.00
5010	F&I 6" Gradelok fitting with FH installation	EA			\$	1,056.00 \$	2,988.00
5011	F&I 12" Gradelok fitting with FH installation	EA		and Fifty-Six Dollars	\$		4,224.00
5012	F&I 24" Gradelok fitting with FH installation	EA		and Two Hundred Eighty-Six Dollars	\$	1,286.00 \$	5,144.00
5101	Remove & salvage Fire Hydrant Assembly	EA		and Two Hundred Thirty-Seven Dollars	\$	2,237.00 \$	44,740.00
5300	F&i Protection Post	EA		ind One Hundred Forty-Two Dollars	\$	1,142.00 \$	2,284.00
6000	F&I 2" gate or tapping valve with box	EA		Forty-Three Dollars	\$	643.00 \$	1,286.00
6001	F&I 4" gate or tapping valve with box	EA		and Nine Hundred Seventy-Six Dollars	3	1,976.00 \$	3,952.00
6002	F&I 6" gate or tapping valve with box	EA		and Seven Hundred Ninety-Five Dollars	\$	2,795.00 \$	83,850.00
6003	F&I 8" gate or tapping valve with box	EA		sand Two Hundred Eighteen Dollars	\$	3,218.00 \$	64,360.00
6004	F&I 10" gate or tapping valve with box	EA		sand Eight Hundred Sixty-Seven Dollars	5	3,867.00 \$	7,734.00
6005	F&I 12" gate or tapping valve with box	EA		and Eight Hundred Ninety-One Dollars	3	4,891.00 \$	
6006	F&I 16" gate or tapping valve with box	EA		nd Four Hundred Eighty-Two Dollars	\$	10,482.00 \$	20,964.00
6020	F&I 16" butterfly valve with box	EA		and Four Hundred Fifteen Dollars	\$	8,415.00 \$	16,830.00
6080	F&I Valve Nut Extension	EA		red Seventy-Nine Dollars	\$	379.00 \$	1,516.00
6200	F&I 2" or 2-1/2" Linestop on Water Main	EA		sand Eight Hundred Eighty Dollars	\$	3,880.00 \$	3,880.00
6201	F&I 4" Linestop on Water Main	EA		and Six Hundred Ninety-Nine Dollars	\$	5,699.00 \$	5,699.00
6203	F&I 6" Linestop on Water Main	EA		nd Eight Hundred Forty-Nine Dollars	\$	6,849.00 \$	41,094.00
6205	F&I 8" Linestop on Water Main	EA		and Six Hundred Ten Dollars	\$	9,610.00 \$	
6207	F&I 10" Linestop on Water Main	EA	1 Ten Thousa	nd Seven Hundred Fifty-Six Dollars	\$	10,756.00 \$	10,756.00
6208	F&I 12"Linestop on Water Main	EA	4 Fourteen Th	ousand Thirty-Four Dollars	\$	14,034.00	56,136.00
6209	F&I 16" Linestop on Water Main	EA	4 Nineteen Th	ousand Six Hundred Sixteen Dollars	\$	19,616.00 \$	78,464.00
6210	F&I 24" Linestop on Water Main	EA	2 Thirty-One	Thousand Nine Hundred Seventy-Five Dollars	\$	31,975.00	63,950.00
6211	F&I 30" Linestop on Water Main	EA	1 Forty-Five 1	housand Five Hundred Sixty-Eight Dollars	\$	45,568.00 \$	45,568.00
6212	F&I 36"Linestop on Water Main	EA	1 Fifty-Six The	ousand Four Hundred Thirty Dollars	5	56,430.00 \$	56,430.00
7001.0	F&I 4" MJ tapping sleeve and make tap	EA	1 Three Thou	sand One Hundred Sixty-One Dollars	\$	3,161.00 \$	3,161.00
7000.1	F&I 6" x 4" Steel tapping sleeve and make tap	EA	5 Four Thous	and Three Hundred Seventy-Eight Dollars	\$	4,378.00 \$	21,890.00
7001.2	F&I 6" x 6" MJ tapping sleeve and make tap	EA	10 Five Thousa	and Six Hundred Seventeen Dollars	\$	5,617.00 \$	56,170.00
7002.1	F&I 8" x 4" Steel tapping sleeve and make tap	EA	1 Four Thous	and Five Hundred Twenty-Nine Dollars	3	4,529.00 \$	4,529.00
7002.2	F&I 8" x 6" Steel tapping sleeve and make tap	EA	10 Four Thous	and Four Hundred Seventy-One Dollars	5	4,471.00\$	44,710.00
7002.3	F&I 8" x 8" MJ tapping sleeve and make tap	EA	4 Six Thousa	nd Two Hundred Fifty-Four Dollars	\$	6,254.00 \$	25,016.00
7003.1	F&I 12" x 4" Steel tapping sleeve and make tap	EA	1 Four Thous	and Nine Hundred Seventy-One Dollars	\$	4,971.00 \$	4,971.00
7003.2	F&I 12" x 6" Steel tapping sleeve and make tap	EA	10 Five Thousa	and One Hundred Thirty-Nine Dollars	\$	5,139.00 \$	
7003.3	F&I 12" x 8" Steel tapping sleeve and make tap	EA	2 Five Thous	and Three Hundred Seven Dollars	\$	5,307.00 \$	

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price	Total Computed Price
7003.4	F&I 12" x 12" MJ tapping sleeve and make tap	EA	1	Nine Thousand Six Hundred Seventy-Six Dollars	3	9,676.00 \$	9,676,00
7004.1	F&I 16" x (<8") Steel tapping sleeve and make tap	EA		Seven Thousand Five Hundred Seven Dollars	\$	7.507.00 \$	7,507,00
7004.1	F&I 16" x 12" Steel tapping sleeve and make tap	EA		Eight Thousand One Hundred Fifty Dollars	\$	8,150.00 s	8,150.00
7004.2	F&I 16" x 16" MJ tapping sleeve and make tap	EA		Seventeen Thousand One Hundred Sixty-Seven Dollars	5	17,167.00 s	17,167.00
8100	F&I 3/4" or 1" meter service (0-15')	EA		One Thousand Six Hundred Five Dollars	\$	1,605.00 \$	481,500.00
8101	F&I 3/4" meter service (+15-80")	EA		One Thousand Eight Hundred Sixty Dollars	\$	1,860.00 \$	558,000.00
8102	F&I 3/4" meter service (+13-00)	EA.		Five Thousand Eight Dollars	\$	5,008.00	50,080.00
		EA.		Two Thousand Eight Hundred Twenty Dollars	2	2,820.00 \$	28,200.00
8103	F&I 3/4" or 1" Dual meter service (0 - 15")	EA.		Four Thousand Seven Hundred Ninety-Nine Dollars	\$	4,799.00 \$	47,990.00
8104	F&I 3/4" or 1" Dual meter service (+15'-80')	EA.		Five Thousand Two Hundred Five Dollars	-	5,205.00 \$	52,050.00
8105	F&I 3/4" Dual meter service (+80'-150')	+		Five Thousand Five Hundred Eighteen Dollars	\$	5,518.00 \$	55,180.00
8106	F&I 1" Dual meter service (+80'-150')	EA.		Four Thousand Seven Hundred Sixty-Three Dollars	- ~ -	4,763.00 s	47,630.00
8107	F&I 1" or 1-1/2" meter service (+15'-80')	EA		Four Thousand Seven Hundred Stay-Finee Dollars	\$	4,988.00 \$	49,880.00
8108	F&I 1" or 1-1/2" meter service (+80'-150')	EA		Three Thousand One Hundred Thirty-Two Dollars	12	3,132.00 s	31,320.00
8109	F&I 1-1/2" or 2" meter service (0-15')	EA			12	4,817.00 \$	
8110	F&I 2" DDCV and service (0-15')	EA		Four Thousand Eight Hundred Seventeen Dollars	5	8,583.00 s	48,170.00
8300	Install city-provided 3" meter (slab or vault to be paid separate)	EA		Eight Thousand Five Hundred Eighty-Three Dollars	\$		42,915.00
8301	Install city-provided 4" meter (slab or vault to be paid separate)	EA		Seven Thousand Seven Hundred Fifty-Five Dollars	\$	7,755.00 \$ 10,018.00 \$	38,775.00
8302	Install city-provided 6" meter (slab or vault to be paid separate)	EA		Ten Thousand Eighteen Dollars	\$		
8303	Install city-provided 8" meter (slab or vault to be paid separate)	EA		Sixteen Thousand Eleven Dollars	\$	16,011.00 \$	
8320	Install 4" double detector check valve assembly	EA		Five Thousand Six Hundred Eighty-One Dollars	3	5,681.00 \$	
8321	Install 6" double detector check valve assembly	EA	100	Seven Thousand Nine Hundred Eleven Dollars	\$	7,911.00 \$	
8322	Install 8" double detector check valve assembly	EA		Eight Thousand Nine Hundred Fifty Dollars	\$	8,950.00 \$	
8323	Install 10" double detector check valve assembly	EA		Twelve Thousand Two Hundred Sixty-One Dollars	\$	12,261.00 \$	
8324	Install 12" double detector check valve assembly	EA		Thirteen Thousand Two Hundred Twenty-Five Dollars	3	13,225.00 \$	13,225.00
8404	F&I auxiliary materials for above-ground large service w/ 12'x5' slab	EA		Six Thousand Two Hundred Forty-Eight Dollars	5	6,248.00	
8405	F&I auxiliary materials for above-ground large service w/ 12'x9' slab	EA		Five Thousand Six Hundred Fifty-Three Dollars	\$	5,653.00\$	
9200	Furnish, place and compact limerock base	CY	-	Two Hundred Eighty-Two Dollars	\$	282.00 \$	
9201	Furnish, place and compact crushed concrete base	CY		Two Hundred Seventy-Four Dollars	\$	274.00 \$	
9202	Furnish and place approved flowable fill	CY	100	Three Hundred Thirty-Four Dollars	\$	334.00 \$	33,400.00
9203	Furnish, place and compact asphalt patch (Superpave Type SP 12.5 or Type SP 9.5 w/ < 8 SY or < 1.5 Tons)	SY-IN	500	One Hundred Fifty-One Dollars	\$	151.00	75,500.00
9205	Furnish, place and compact asphalt concrete base or surface course, (Superpave Type SP-12.5)	TN		One Hundred Fifty-Five Dollars	5	155.00	7,750.00
9207	Furnish, place, grade and compact asphaltic concrete overlay (Superpave Type SP-9.5)	TN	50	One Hundred Fifty-Five Dollars	5	155.00 \$	7,750.00
9208	Mobilization to perform mechanical milling	EA		Six Hundred Twenty-Six Dollars	\$	626.00 \$	
9209	Mechanical milling of asphalt roadways in 1-inch increments	SY-IN		Twenty-Five Dollars	\$	25.00 \$	25,000.00
9210	Restore 6" thick concrete driveway	SY	200	One Hundred Sixty Dollars	\$	160.00 \$	
9211	Restore brick pavement, including base material	SY	20	One Hundred Seventy-Two Dollars	\$	172.00 \$	
9212	Install Brick pavement furnished by City, Contractor F&I base material	SY	100	One Hundred Nineteen Dollars	5	119.00 \$	11,900.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price	Total Computed Price
9250	Furnish materials & Install Signalization loops	EA	5	Two Thousand One Hundred Five Dollars	\$	2,105.00 s	10,525.00
9300	Furnish and install Type "D" concrete curb	LF		Sixty-Eight Dollars	\$	68.00 \$	6,800.00
9301	Furnish and install valley curb	LF		Seventy-Four Dollars	\$	74.00 s	1,480.00
9302	Furnish and install Miami curb	LF		Seventy-Seven Dollars	s	77.00 s	7,700.00
9303	Furnish and install Type "F" concrete curb	LF		Ninety-Five Dollars	\$	95.00 \$	9,500.00
9304	Furnish and install stone or precast curb	LF		Two Hundred Thirty-Seven Dollars	\$	237.00 \$	4,740.00
9305	Remove and install existing stone curb	LF		Two Hundred Thirty-Five Dollars	\$	235.00 \$	2,350.00
9306	Furnish and install asphaltic concrete curb	LF		Ninety-Four Dollars	\$	94.00 \$	940.00
9307	Furnish and install 4" thick concrete sidewalk	SY		One Hundred Ten Dollars	\$	110.00 s	33,000.00
9308	Furnish and install paver block sidewalk or driveway	SY		Two Hundred Eighty-Eight Dollars	S	288.00 s	14,400.00
9309	Grade and sod roadside/ditch bottoms and sides - Bahia	SY		Twenty-Two Dollars	\$	22.00 \$	22,000.00
9310	Grade and sod roadside/ditch bottoms & sides - St. Augustine	SY		Thirty-Three Dollars	\$	33.00 \$	33,000.00
9311	Grade, fertilize, sprig, and hydro-seed roadside	SY		Fifty-Five Dollars	s	55.00 g	2,750.00
9312	F&I detectable warnings on concrete walking surfaces	EA		Five Hundred Thirty-Two Dollars	S	532.00 \$	3,192.00
9400	Grout abandoned pipe	CY		Six Hundred Five Dollars	3	605.00 s	1,210.00
9410	Place and compact backfill soils	CY		One Hundred Forty-Nine Dollars	\$	149.00 \$	298.00
9411	Furnish, place and compact backfill soils	CY	~	One Hundred Seventy-Three Dollars	\$	173.00 s	346.00
9500	Furnish, form and place reinforced concrete	CY		One Thousand Twenty-Seven Dollars	\$	1,027.00 \$	2.054.00
9504	Replace damaged but not marked sanitary laterals, w PVC	LF		Two Hundred Twenty-One Dollars	\$	221.00 s	11,050.00
9505	Video photography	LF		Three Dollars and Ten Cents	\$	3.10 s	310.00
9600	Demolish and Remove Large service vault	EA		Four Thousand Eight Hundred Twelve Dollars	S	4.812.00 s	4,812.00
9601	Demolish and Remove Large service concrete slab	EA	- '1	One Thousand Two Hundred Ten Dollars	\$	1,210.00 \$	1,210.00
9701	Excavation and removal of muck	CY		Six Hundred Twenty-One Dollars	\$	621.00 s	1,242.00
9801	Root Pruning	LF		Five Dollars and Sixty Cents	\$	5.60 s	112.00
9900	Excavation exploratory pits (10'x10' x 5' deep)	EA		Five Hundred Dollars and no Cents	\$	500.00 \$	5,000.00
9920	F&I blow-off assembly w/valve & meter box, per Detail 2.16	EA		Two Thousand Eight Hundred Seven Dollars	\$	2,807.00 \$	14,035.00
9921	F&I blow-off assembly w/valve & meter box, per Detail 2.17	EA		Two Thousand Five Hundred Seventy Dollars	\$	2,570.00 \$	12,850.00
9930	Furnish & install precast thrust blocks	EA		Five Hundred Twenty-Two Dollars	\$	522.00 s	3,132.00
9931	Furnish, form & pour concrete thrust blocks	CY		One Thousand Three Hundred Forty-Eight Dollars	\$	1,348.00 \$	1,348.00
9940	Cut into existing asbestos concrete pipe	EA		Two Thousand Two Hundred Forty Dollars	\$	2,240.00 \$	2,240.00
9940	Cut into existing aspestos concrete pipe	EA	- '		+	2,210.003	2,210.00
9980	Contingency allowance - to be used by City	LS	1	Three Hundred Thousand Dollars and No Cents	\$	300,000.00 \$	300,000.00
9900	Contingency anowance - to be used by only	Lo		Cents	*	300,000.00	300,000.00
10000	Payment and Performance Bond Allowance	LS	1	Fifty Thousand Dollars and No Cents	\$	50,000.00 \$	50,000.00
	Maintenance of Traffic Allowance (3% of Work Order or			Three Hundred Fifty Thousand Dollars and			
11000	cost+markup)	LS	1	No Cents	\$	350,000.00 \$	350,000.00
						TOTAL \$	5,151,556.00

Tainpa

Good Faith Effort Compliance Plan Guidelines for Women/Minority Business Enterprise\Small Local Business Enterprise Participation City of Tampa - Equal Business Opportunity Program (MBD Form 50 - detailed instructions on page 2 of 2)

Con	tract Name 21-C-00018 Citywide Meter, Hydrant and Valve Installation and Replacement	Bid Date May 11, 2021
Bidd	ler/Proposer_ Kimmin's Contracting Corp.	
Sign	ature	Date May 11, 2021
Nam	e John Zemina Title Vice President	
spec	Compliance Plan with attachments is a true account of Good Faith Efforts (GFE) made to achieve to ified for Women/Minority Business Enterprises/Small Local Business Enterprises (WMBE/SLBE) or	n the referenced contract:
subc	ne WMBE/SLBE participation <u>Goal is Met or Exceeded</u> . See DMI Forms 10 and 20 which accontractors <u>solicited</u> and <u>all</u> subcontractors <u>to-be-utilized</u> .	ccurately report <u>all</u>
step	te WMBE/SLBE participation Goal is Not Achieved. The following list is an overview of the salready performed. Furthermore, it is understood that these GFE requirements are weiguation based on the veracity and demonstrable degree of documentation provided with the (Check applicable boxes below. Must enclose supporting documents accordingly weights are considered.)	hted in the compliance e bid/proposal:
(1)	Solicited through reasonable and available means the interest of WMBE/SLBEs that have the capability to perform the work of the solicit this interest within sufficient time to allow the WMBE/SLBEs to respond. The Bidder or Proposer must take appropriate step interested WMBE/SLBEs See DMI report forms for subcontractors solicited. See enclosed supple efforts. Qualifying Remarks:	s to follow up initial solicitations with
(2)	Provided interested WMBE/SL8Es with adequate, specific scope information about the plans, specifications, and requirements of timely manner to assist them in responding to the requested-scope identified by bidder/proposer for the solicitation. See encused. Qualifying Remarks:	
(3)	Negotiated in good faith with interested WMBE/SLBEs that have submitted bids (e.g. adjusted quantities or scale). Documentation addresses, and telephone numbers of WMBE/SLBEs that were solicited; the date of each such solicitation, a description of the info and specifications for the work selected for subcontracting; and evidence as to why agreements could not be reached with WMBE/costs involved in soliciting and using subcontractors is not a sufficient reason for a bidder/proposer's failure to meet goals or achieve are reasonable. Bidders are not required to accept excessive quotes in order to meet the goal. DMI Utilized Forms for sub-(contractor/consultant) reflect genuine negotiations. ☐ This project and negotiations are limited to clarifications of scope/specifications and qualifications. ☐ See examples.	rmation provided regarding the plans SLBEs to perform the work. Additional re participation, as long as such costs at is an RFQ/RFP in nature
(4)	Not rejecting WMBE/SLBEs as being unqualified without justification based on a thorough investigation of their capabilities. The W membership in specific groups, organizations / associations and political or social affiliations are not legitimate causes for rejecting D Not applicable. Description See attached justification for rejection of a subcontractor's bid or proposal.	or not soliciting bids to meet the goals.
(5)	Made scope(s) of work available to WMBE/SLBE subcontractors and suppliers; and, segmented portions of the work or material or WMBE/SLBE subcontractors and suppliers, so as to facilitate meeting the goal. Sub-Contractors were allowed to be work or trade without restriction to a pre-determined portion.	
(6)	Made good faith efforts, despite the ability or desire of Bidder/Proposer to perform the work of a contract with its own forces/organize to self-perform the work of a contract must demonstrate good faith efforts if the goal has not been met. Sub-Contractors we submitting bids/proposals and were solicited on work typically self-performed by the prime. Qualifying	ere not prohibited from
(7)	Segmented portions of the work to be performed by WMBE/SLBEs in order to increase the likelihood that the goals will be met. The breaking out contract work items into economically feasible units (quantities/scale) to facilitate WMBE/SLBE participation, even who prefer to perform these work items with its own forces. Sub-Contractors were allowed to bid on their own che restriction to a pre-determined portion. Sub-Contractors were not prohibited from submitting solicited on work typically self-performed by the prime.	en the Bidder/Proposer might otherwise pice of work or trade without
(8)	Made efforts to assist interested WMBE/SLBEs in obtaining bonding, lines of credit, or insurance as required by the city or contract See enclosed documentation on initiatives undertaken and methods to accomplish. Quality	or. fying Remarks:
(9)	Made efforts to assist interested WMBE/SLBEs in obtaining necessary equipment, supplies, materials, or related assistance or sen acceptable mentor-protégé program. \circ See enclosed documentation of initiatives and/or agreements. \circ	
(10)	Effectively used the services of the City and other organizations that provide assistance in the recruitment and placement of WMBE See enclosed documentation. The following services were used:	USLBEs.
Note:	Provide any unsolicited information that will support the Bid/RFP Compliance Evaluation. \Box Named Documents	ments Are:

Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.	21-C-00018	Contract Name: Cityw				tion and Repla	cement	
Company Na	ıme: Kimmins Cor	tracting Corp.	Addres	ss: 1501 E. 2nd Ave	enue	The second secon	orida 33605	
Federal ID:_	16-0810270	htracting Corp. Phone: 813.247.0147	Fax:	813.579.1081	_ Ema	:_jzemina@	kimmins.con	1
No Firms Note: Fom	were contacted were contacted hed list of addition MBD-10 must list A	ailed Instructions for com or solicited for this con because: onal Firms solicited and ALL subcontractors solicited eneral = 912. Heavy = 913. Trades	tract. I all supplements Including	olemental information	mation all busin	(List must		this form)
S = SLBE W=WMBE O = Neither Federal ID		Company Name Address Phone, Fax, Email		Type of Owne (F=Female M: BF BM = Afric HF HM = Hisp AF AM = Asia NF NM = Natio CF CM = Cau	-Male) an Am. anic n Am. ve Am.	Trade or Services NIGP Code (listed above)	Contact Method L=Letter F=Fax E=Email P=Phone	Quote or Response Received Y/N
	See attached							
opportunities of Signed: Failur	on this contract.	n and Submit Both Form	e/Title:_Jo s 10 & 20	ohn Zemina / Vice	Presider 1 e Bid c	nt l	Date: May 11	, 2021
MBD 10 rev./effe	ective 02/2016							

Page 3 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All To-Be-Utilized Sub-(Contractors/Consultants/Suppliers) (FORM MBD-20)

Contract No.:	21-C-00018	Contract Name: City	wide Meter, H	ydrant and Valve Ins	tallation and	Replacement	
Company Na	me: Kimmins Cor	htracting Corp. Phone: 813.247.0147	Address:	1501 E. 2nd Avenue	Tampa	, Florida 3360	15
Federal ID:	16-0810270	Phone:_813.247.0147	Fax:_813.	579.1081 E	mail:_jzemin	a@kimmins.c	om
See attac Note: Form [] No Subco	hed list of addit MBD-20 must list ontracting/const	ailed Instructions for com onal Firms Utilized and ALL subcontractors To-Be-U liting (of any kind) will b utilized because:	all supplem <u>Itilized includ</u> be performe	nental information in the inform	n (List mus		this form)
		909, General = 912, Heavy = 913,					
S = SLBE W=WMBE O =Neither Federal ID	nter "S" for firms Certified	as Small Local Business Enterprises, Company Name Address Phone, Fax, Email	W for firms Cert	Type of Ownership (F=Fernale M=Male) BF BM = African Am. HF HM = Hispanic Am. AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	Trade, Services, or Materials NIGP Code Listed above	\$ Amount of Quote. Letter of Intent (LOI) if available	Percent of Scope or Contract %
S	Suca Pipe Supply				Pipe		
26-3669556	Į.	f, Tampa, FL 33624 actwinau1@yahoo.com		BF	Supplier	\$869,870	16.89%
W	Blackrock Milling						
45-3591531		venue, Tampa, FL 33606 ssica@blackrockmill.com		CF	Paving	\$ 51,750	1%
	bcontract / Suppli tilization \$869	er Utilization \$ 1,264,380 870.00).00				
Total WMBE I	Utilization \$ 51,	750.00 al Bid/Proposal Amt. <u>16.8</u>	9 % Percen	t WMBE Utilization	of Total Bi	d/Proposal A	.mt. 1 %
	The same of the sa	information is a true and acc				-	
Signed:	1/2			Zemina / Vice Presid		Date: May	
	Failure to Complete	, Sign and Submit Both Form			or Proposal i	Von-Responsi	V8
MDD 00 (-#-	00,0040	rorms must be	included Wit	h Bid / Proposal			

TAMPA BID BOND

Contract 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021

KNOW ALL MEN BY THESE PRESENTS, that we, <u>Kimmins Contracting Corp.</u>
1501 Second Ave, Tampa, FL 33605
(hereinafter called the Principal) and North American Specialty Insurance Company
(hereinafter called the Surety) a Corporation chartered and existing under the laws of the State of New Hampshire, with its principal offices in the City of Kansas City, MO, and authorized to do
business in the State of Florida, are held and firmly bound unto the City of Tampa, a Municipal Corporation of Hillsborough County, Florida, in the full and just sum of 5% of the amount of the (Bid) (Proposal) good and lawful money of the United States of America, to be paid upon demand of the City of Tampa, Florida, to which payment will and truly to be made we bind ourselves, our heirs, executors, administrators, successors, and assigns, jointly and severally and firmly these presents.
WHEREAS, the Principal is about to submit, or has submitted to the City of Tampa, Florida, a Proposal for the construction of certain facilities for the City designated Contract 21-C-00018, Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021.
WHEREAS, the Principal desires to file this Bond in accordance with law, in lieu of a certified Bidder's check otherwise required to accompany this Proposal.
NOW, THEREFORE: The conditions of this obligation are such that if the Proposal be accepted, the Principa shall, within twenty (20) days after the date of receipt of written Notice of Award, execute a contract in accordance with the Proposal and upon the terms, conditions and price set forth therein, in the form and manner required by the City of Tampa Florida and execute a sufficient and satisfactory Public Construction Bond payable to the City of Tampa, Florida in ar amount of one hundred percent (100%) of the total contract price, in form and with security satisfactory to said City, then this Bid Bond obligation is to be void; otherwise to be and remain in full force and virtue in law, and the Surety shall, upon failure of the Principal to comply with any or all of the foregoing requirements within the time specified above, immediately pay to the aforesaid City, upon demand, the amount thereof, in good and lawful money of the United States of America, not as a penalty, but as liquidated damages.
IN TESTIMONY THEREOF, the Principal and Surety have caused these presents to be duly signed and sealed this 27th day of April , 2021.
Principal Kimmins Contracting Corp. BY TITLE John Zemina, Vice President SURETY: North American Specialty Insurance Company BY
TITLE Will Griffin, Attorney-In-Fact
Will Griffin Producing Agent 900 S. Pine Island Road, Suite 210 Plantation, FL 33324 Producing Agent's Address
American Global LLC Name of Agency

The addition of such phrases as "not to exceed" or like import shall render the (Bid) (Proposal)non-responsive.

SWISS RE CORPORATE SOLUTIONS

NORTH AMERICAN SPECIALTY INSURANCE COMPANY WASHINGTON INTERNATIONAL INSURANCE COMPANY WESTPORT INSURANCE CORPORATION

WESTPORT INSURANCE CORPORATION GENERAL POWER OF ATTORNEY

IN WITNESS WHEREOF, I have set my hand and affixed the seals of the Companies this 27th day of

KNOW ALL MEN BY THESE PRESENTS, THAT North American Specialty Insurance Company, a corporation duly organized and existing under laws of the State of New Hampshire, and having its principal office in the City of Kansas City, Missouri and Washington International Insurance Company a corporation organized and existing under the laws of the State of New Hampshire and having its principal office in the City of Kansas City, Missouri, and Westport Insurance Corporation, organized under the laws of the State of Missouri, and having its principal office in the City of Kansas City, Missouri does hereby make, constitute and appoint:

MICHAEL MARINO, RICARDO DAVILA, CLAY RIVES, WILL GRIFFIN, TORRE TAYLOR and KRYSTAL STRAVAT
JOINTLY OR SEVERALLY
Its true and lawful Attorney(s)-in-Fact, to make, execute, seal and deliver, for and on its behalf and as its act and deed, bonds or other writings obligatory in the nature of a bond on behalf of each of said Companies, as surety, on contracts of suretyship as are or may be required or permitted by law, regulation, contract or otherwise, provided that no bond or undertaking or contract or suretyship executed under this authority shall exceed the
amount of: ONE HUNDRED TWENTY FIVE MILLION (\$125,000,000.00) DOLLARS
This Power of Attorney is granted and is signed by facsimile under and by the authority of the following Resolutions adopted by the Boards of Directors of North American Specialty Insurance Company and Washington International Insurance Company at meetings duly called and held on March 24, 2000 and Westport Insurance Corporation by written consent of its Executive Committee dated July 18, 2011.
"RESOLVED, that any two of the President, any Senior Vice President, any Vice President, any Assistant Vice President, the Secretary or any Assistant Secretary be, and each or any of them hereby is authorized to execute a Power of Attorney qualifying the attorney name in the given Power of Attorney to execute on behalf of the Company bonds, undertakings and all contracts of surety, and that each or any of them hereby is authorized to attest to the execution of any such Power of Attorney and to attach therein the seal of the Company; and it is
FURTHER RESOLVED, that the signature of such officers and the seal of the Company may be affixed to any such Power of Attorney or to any certificate relating thereto by facsimile, and any such Power of Attorney or certificate bearing such facsimile signatures or facsimile seal shall be binding upon the Company when so affixed and in the future with regard to any bond, undertaking or contract of surety to which it is attached."
SEAL SEAL Sealor Vice President of Washington International Insurance Company & Scalor Vice President of Washington International Insurance Company & Scalor Vice President of Washington International Insurance Company & Sealor Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company
IN WITNESS WHEREOF, North American Specialty Insurance Company, Washington International Insurance Company and Westport Insurance Corporation have caused their official seals to be hereunto affixed, and these presents to be signed by their authorized officers this this 30th day of MAY, 20 19.
North American Specialty Insurance Company Washington International Insurance Company
State of Illinois Westport Insurance Corporation County of Cook SS:
On this 30th day of MAY, 20 19, before me, a Notary Public personally appeared Steven P. Anderson, Senior Vice President of
Washington International Insurance Company and Senior Vice President of North American Specialty Insurance Company and Senior Vice President Westport Insurance Corporation and Michael A. Ito Senior Vice President of Washington International Insurance Company and Senior Vice President
of North American Specialty Insurance Company and Senior Vice President of Westport Insurance Corporation, personally known to me, who
being by me duly sworn, acknowledged that they signed the above Power of Attorney as officers of and acknowledged said instrument to be the voluntary act and deed of their respective companies.
OFFICIAL SEAL M. MERNY Notery Public. Starte of Binois My Commission Expires 1204/2021 M. Kenny, Notary Public
I, Jeffrey Goldberg, the duly elected Vice President and Assistant Secretary of North American Specialty Insurance Company, Washington
International Insurance Company and Westport Insurance Corporation do hereby certify that the above and foregoing is a true and correct copy of a Power of Attorney given by said North American Specialty Insurance Company, Washington International Insurance Company and Westport Insurance
Corporation which is still in full force and effect.

20, 21



Equal Business Opportunity Gregory K. Hart, Manager

306 East Jackson Street, 3N Tampa, Florida 33602

> Office (813) 274-5522 Fax: (813) 274-5544

DATE:

June 17, 2021

TO:

Michael Chucran, Director, Contract Administration Department

FROM:

Gregory K. Hart, Manager

RE:

EBO Bid Compliance Evaluation - GFECP Solicitation and Utilization Audit

PROJECT:

21-C-00018 Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021

2nd LOW BIDDER:

Kimmins Contracting, Corp

BID AMOUNT:

\$5,151,556.00

U-WMBE/SLBE Subcontract Goal: 13.0%
U-WMBE/SLBE Goal Attainment: 16.8%

nt: <u>10</u>

Good Faith Effort Compliance:

Compliant-Met Requirements

The Equal Business Opportunity Office evaluated the Good Faith Effort Compliance Plan (GFECP) submitted by 2nd Low bidder Kimmins Contracting, Corp and determined they complied with the requirements of the Equal Business Opportunity Program (EBO) at time of bid by having performed meaningful action steps to (a) identify and (b) directly solicit Underutilized-WMBE and SLBE eligible companies to quote divisions of work commensurate with the participation goal. The project goal was narrowly-tailored on the basis of nine (9) out of twelve (12) subcontract categories wherein the requisite, eligible U-WMBE and SLBE companies represented a minimum availability group of sixty (60+) firms, within an overall availability group of one hundred (100+) available COT certified companies by subcontract tasks.

NOTE: The subcontract goal is narrowly tailored (per policy) to <u>target underutilization of affected groups in specific trade/industry categories</u>. Any WMBE/SLBE achievement that was not a variable in calculation of the narrowly tailored goal is considered ancillary. <u>Ancillary participation cannot be credited toward meeting the narrowly tailored goal but</u> may count toward the bidder's overall project participation when GFECP criteria for the underutilized group are met.

U-WMBE/SLBE Subcontract Goal Attainment

U-17 (VIDE/SLIDE SUDCOMMACCOOM ACCOUNTED							
	Certification Type	Classification -	Classification	Totals			
	Dual U-WMBE / SLBE	BBE	SLBE	16.8%			

Ancillary Participation

American y 1 articipation						
Certification Type	Classification	Totals				
WMBE	WBE	1.0%				

<u>Compliance Statement:</u> Total WMBE participation is 17.8% representing 16.8% BBE (Black Business Enterprise) and 1.0% WBE (Women Business Enterprise).

Gregory Hart Gregory K. Hart, MPA, CPPA GKH:/RT

tampagov.net

PF	ROPOSAL
To	the Mayor and City Council of the City of Tampa, Florida:
Le	gal Name of Bidder:
Bio	dder's Fictitious Name, if applicable:Dallas 1 Construction & Development
Bio	dder is a/an:
Bio	dder is organized under the laws of: TState of Florida Other:
Bio	dder Mailing Address: 10328 Main Stl, Thonotosassa, FL 33592
	Idea's Federal Employee Identification No. (FFI/FIN): 59-2610376
Bio	dder's License No.: CUC029827 Bidder's FDOS (SUNBIZ) Doc. No.: H90183
	part on to. 10, as centry a, marriage a sure of approximately
Bio	dder Contact Name**: Israel Justice Email: israel.justice@dlcd.comPhone: (813) 986-1922
Ch	dder's own initial application for employment has criminal history screening practices similar in nature to the practices contained in napter 12, Article VI, City of Tampa Code (Responses, whether "Yes" or "No", are for informational purposes only and will not be used a basis of award or denial, nor as a basis for any protest):
	e below named person, appearing before the undersigned authority and after being first duly sworn, for him/herself and on behalf of entity submitting this Proposal does hereby affirm and declare as follows:
(1)	He/She is of lawful age and is authorized to act on behalf of Bidder (the individual, partnership, corporation, entity, etc. submitting this Proposal) and that all statements made in this document are true and correct to the best of my knowledge.
(2)	If Bidder is operating under a fictitious name, Bidder has currently complied with any and all laws and procedures governing the operation of businesses under fictitious names in the State of Florida
(3)	No person or entity other than Bidder has any interest in this Proposal or in the Contract proposed to be entered into.
(4)	This Proposal is made without any understanding, agreement, or connection with any person or entity making Proposal for the same purposes, and is in all respects fair and without collusion or fraud.
(5)	Bidder is not in arrears to the City of Tampa, upon debt or contract, and is not a defaulter, as surety or otherwise, upon any obligation to the City of Tampa.
(6)	That no officer or employee or person whose salary is payable in whole or in part from the City Treasury is, shall be or become interested, directly or indirectly, as a contracting party, partner, stockholder, surety or otherwise, in this Proposal, or in the performance of the Contract, or in the supplies, materials, or equipment and work or labor to which it relates, or in any portion of the profits thereof.
(7)	Bidder has carefully examined and fully understands the Solicitation and has full knowledge of the scope, nature, and quality of the work to be performed; furthermore, Bidder has carefully examined the site of the work and that, from his own investigations, he has

(7) Bidder has carefully examined and fully understands the Solicitation and has full knowledge of the scope, nature, and quality of the work to be performed; furthermore, Bidder has carefully examined the site of the work and that, from his own investigations, he has satisfied himself as to the nature and location of the work, the character, quality, and quantity of materials and the kinds and extent of equipment and other facilities needed for the performance of the work, the general and local conditions and all difficulties to be encountered, and all other items which may, in any way, affect the work or its performance.

(8) Bidder (including its principals) has | X has NOT been debarred or suspended from contracting with a public entity.

- (9) Bidder Thas | has NOT implemented a drug-free workplace program that meets the requirements of Section 287.087, Florida Statutes.
- (10) Bidder has carefully examined and fully understands all the component parts of the Contract Documents and agrees Bidder will execute the Contract, provide the required Public Construction Bond, and will fully perform the work in strict accordance with the terms of the Contract and Contract Documents therein referred to for the following prices, to wit:

* If a Partnership or Joint Venture, attach Partnership or Joint Venture Agreement.

^{**} Someone the City may contact with questions/correspondence regarding this Solicitation and/or permits.

Computed To	tal Price in Words: Five M	lillion Six Hundred	Fifty Five Thous	sand Four Hund	dred
Nin	ety		dollars and <u>Zero</u>		cents.
Computed To	tal Price in Figures: \$5,	655,490.00			
	wledges that the following add				endum(s) have been
Bidder acknow	wledges the requirements of th	e City of Tampa's Equal B	usiness Opportunity Pro	ogram.	
together with included in the	wledges that it is aware of Flori any involved subcontractors wi e various items of this Proposa identifies the costs and metho	ill comply with all applicable I and the total bid price (as	e trench safety standar	ds. Bidder further ackn	owledges that
1	Trench Safety Measure (Description)	Unit of Measure (LF, SY)	Unit Quantity	Unit Cost	Extended Cost
Α.	Trench Box	LS	1	\$ 5,000.00	\$5,000.00
В.					
C.					
·			Total Cost: \$	5,000.00	
<u>FAIL</u>	URE TO COMPLETE THE AB	Name of Bi Authorized	dder: Dallas 1 Corp. dt Signature:	pa Dallas 1 Constructio	
		Signer's Pr	inted Name_Israel J	ustice	
		Signer's Tit	le: Chief Estimato	or	
STATE OF _	Florida				
COUNTY OF	Hillsborough	W			
For an entity:	The forgoing instrument w presence or □ online note by <u>Israel Justice</u> of <u>Dallas 1 corp.</u> □ Other: Identification. Type of Iden	arization, this11 _, on behalf of such entit	day ofMay asChief Estima , a/n □ Part	, <u>202ੴ</u> ator nership □ Joint Vent	1
For an individual:	The forgoing instrument w presence or □ online nota By <u>\SRAEL</u> UST Produced Identification. Ty	arization, this 15th	day of, Such in	1	, 2021
	Alice May	sion GG 366468	Notary Public, Notary Printed Commission N	Name: ALCE M lo.: 3Uc46	ZIDA AY FORTUNI- 8

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price		Total Computed Price
	ENGINEER'S ESTIMATE							
2100	F&I 4" ductile iron pipe	LF	200	One Hundred Sixty Dollars and no Cents	\$	160.00	\$	32,000.00
2102	F&I 6" ductile iron pipe	LF	1,000	One Hundred Seventy Five Dollars and no Cents	\$	175.00	\$	175,000.00
2104	F&I 8" ductile iron pipe	LF		One Hundred Eighty Five Dollars and no Cents	\$	185.00	\$	92,500.00
2105	F&I 10" ductile iron pipe	LF		Two Hundred Dollars and no Cents	\$	200.00	\$	20,000.00
2106	F&I 12" ductile iron pipe	LF	200	Two Hundred Thirty Dollars and No Cents	\$	230.00	\$	46,000.00
2108	F&I 16" ductile iron pipe	LF	200	Two Hundred Seventy Dollars and no Cents	\$	270.00	\$	54,000.00
2149	F&I 2" PVC pipe and fittings at various depths	LF		Ninety Dollars and no Cents	\$	90.00	\$	45,000.00
2150	F&I 4" PVC pipe	LF	100	One Hundred Twenty Dollars and no Cents	\$	120.00	\$	12,000.00
2152	F&I 6" PVC pipe	LF	1,000	One Hundred Thirty Two Dollars and no Cents	\$	132.00	\$	132,000.00
2154	F&I 8" PVC pipe	LF		One Hundred Forty Two Dollars and no Cents	\$	142.00	\$	71,000.00
2156	F&I 12" PVC pipe	LF		Two Hundred Ten Dollars and no Cents	\$	210.00	s	21,000.00
2158	F&I 16" PVC pipe	LF		Two Hundred Fifty Dollars and no Cents	\$	250.00	\$	25,000.00
2200	F&I 2" HDPE w/HDPE transitions adapters at various depths	LF	500	Seventy Dollars and no Cents	\$	70.00	\$	35,000.00
2201	F&I 4" HDPE pipe by HDD at variuos depths	LF	100	One HundredTtwenty Dollars and no Cents	\$	120.00	s	12,000.00
2202	F&I 6" HDPE pipe by HDD at variuos depths	LF	500	One Hundred Forty Dollars and no Cents	\$	140.00	s	70,000.00
2203	F&I 8" HDPE pipe by HDD at variuos depths	LF	100	One Hundred Sixty Dollars and no Cents	\$	160.00	s	16,000.00
2300	Furnish, install and remove 2-inch temporary service line	LF	200	One Hundred Eighty Dollars and no Cents	\$	180.00	\$	36,000.00
2500	Removal of abandoned pipe 3" and smaller in diameter	LF	2	Nineteen Dollars and no Cents	\$	19.00	S	38.00
2501	Removal of abandoned pipe 4" - 10" in diameter	LF	2	Fifty Three Dollars and no Cents	\$	53.00	s	106.00
2600	Cut and plug 3" and smaller in diameter pipe, to include meter services lines	EA	i 300	Six Hundred Thirty Dollars and no Cents	s	630.00	s	189,000.00
2601	Cut and plug 4", 6" and 8" diameter pipe	EA	10	One Thousand Forty Dollars and no Cents	s	1,040.00	s	10,400.00
2602	Cut and plug 10°, 12" and 16" diameter pipe	EA	5	Two Thousand Six Hundred Forty Dollars and no Cents	s	2,640.00	s	13,200.00
2800	Make tap and furnish materials to connect 3" and smaller water mains to new/existing mains (0-15 ft. in length)	EA	5	One Thousand Two Hundred Thirty Dollars and no Cents	\$	1,230.00	\$	6,150.00
2801	Make tap and furnish materials to connect 3" and smaller water mains to new/existing mains (more than 15 ft. in length)	ΕA		One Thousand Eight Hundred Sixty Dollars and no Cents	\$	1,860.00	\$	9,300.00
3000	F&I 4" wedge-action MJ or flange restraint	EΑ	10	Three Hundred Seventy Dollars and no Cents	\$	370.00	\$	3,700.00
3001	F&I 6" wedge-action MJ or flange restraint	EA	10	Four Hundred Dollars and no Cents	\$	400.00	\$	4,000.00
3002	F&I 8" wedge-action MJ or flange restraint	EA	10	Four Hundred Forty Dollars and no Cents	\$	440.00	\$	4,400.00
3003	F&I 10" wedge-action MJ or flange restraint	EA		Six Hundred Eighty Dollars and no Cents	\$	680.00	\$	6,800.00
3004	F&I 12" wedge-action MJ or flange restraint	EA	10	Seven Hundred Thirty Dollars and no Cents	\$	730.00	\$	7,300.00
3005	F&I 14" wedge-action MJ or flange restraint	EA	10	One Thousand One Hundred Dollars and no Cents	\$	1,100.00	\$	11,000.00
3006	F&I 16" wedge-action MJ or flange restraint	EA	10	One Thousand Five Hundred Fifty Dollars and no Cents	\$	1,550.00	\$	15,500.00
3040	Furnish & install 4" bell and MJ restraint on existing pipe	EA	6	Two Hundred Ninety Dollars and no Cents	\$	290.00	\$	1,740.00
3041	Furnish & install 6" belt and MJ restraint on existing pipe	EA	20	Four Hundred Twenty Dollars and no Cents	\$	420.00	\$	8,400.00
3042	Furnish & install 8" bell and MJ restraint on existing pipe	EA	20	Four Hundred Eighty Dollars and no Cents	\$	480.00	\$	9,600.00
3043	Furnish & install 10" bell and MJ restraint on existing pipe	EA	20	Five Hundred Eighty Dollars and no Cents	\$	580.00	\$	11,6000.00
3044	Furnish & install 12" bell and MJ restraint on existing pipe	EA	20	One Thousand Six Hundred Thirty Dollars and no Centa	\$	1,630.00	\$	32,600.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words	Unit Price	Total Computed Price
3045	Furnish & install 16" bell and MJ restraint on existing pipe	EA	10	Two Thousand Seven Hundred Ninety Dollars and No Cents	\$ 2,790.00	\$ 27,900.00
3050	Furnish & install 4" wedge-action MJ restraint on new PVC pipe	EA		Three Hundred Sixty Dollars and No Cants	\$ 360.00	\$ 3,600.00
3051	Furnish & install 6" wedge-action MJ restraint on new PVC pipe	EA		Three Hundred Seventy Dollars and No Cents	\$ 370.00	\$ 3,700.00
3052	Furnish & install 8" wedge-action MJ restraint on new PVC pipe	EA		Three Hundred Ninety Dollars and No Cents	\$ 390.00	\$ 3,900.00
3053	Furnish & install 12" wedge-action MJ restraint on new PVC pipe	EA	10		\$ 630.00	\$ 6,300.00
3054	Furnish & install 16" wedge-action MJ restraint on new PVC pipe	EA		One Thousand Two Hundred Eighty Dollars and No Cents	\$ 1,280.00	\$ 12,800.00
3070	Furnish 4" push-on gasket (gripper-type) restraint	EA		One Hundred Twenty Dollars and No Cents	\$ 120.00	\$ 3,600.00
3071	Furnish 6" push-on gasket (gripper-type) restraint	EA		One Hundred Eighty Dollars and No Cents	\$ 180.00	\$ 5,400.00
3072	Furnish 8" push-on gasket (gripper-type) restraint	EA		Two Hundred Forty Dollars and No Cents	\$ 240.00	\$ 7,200.00
3072		EA		Three Hundred Fifty Dollars and No Cents	\$ 350.00	
	Furnish 12" push-on gasket (gripper-type) restraint	-		Eight Hundred Dollars and No Cents	\$ 800.00	
3074	Furnish 16" push-on gasket (gripper-type) restraint	EA	30	Eighty Dollars and No Cents		\$ 24,000.00
4000	F&I 4" DI MJ plug or cap	EA	2	Eight Hundred Eighty Dollars and No Cents	\$ 80.00	\$ 160.00
4001	F&I 4" DI MJ bend, offset, sleeve or reducer	EA	2		\$ 880.00	\$ 1,760.00
4002	F&I 4" DI MJ tee	EA	2	Two Hundred Fifty Dollars and No Cents	\$ 250.00	\$ 500.00
4003	F&I 4" (x 12") DI MJ offset	EA	2	Three Hundred Eighty Dollars and No Cents One Hundred Ten Dollars and No Cents	\$ 380.00	\$ 760.00
4004	F&I 6" DI MJ plug or cap	EA	2		\$ 110.00	\$ 220.00
4005	F&I 6" DI MJ bend, offset, sleeve or reducer	EA		Nine Hundred Twenty Dollars and No Cents	\$ 920.00	\$ 9,200.00
4006	F&I 6" DI MJ tee	EA	5	Three Hundred Thirty Dollars and No Cents	\$ 330.00	\$ 1,650.00
4007	F&I 6" (x 12") DI MJ offset	EA	2	Four Hundred Ninety Dollars and No Cents	\$ 490.00	\$ 980.00
4008	F&I 8" DI MJ plug or cap	EA	2	One Hundred Forty Dollars and No Cents	\$ 140.00	\$ 280.00
4009	F&I 8" DI MJ bend, offset, sleeve or reducer	EA		Nine Hundred Seventy Ootlars and No Cents	\$ 970.00	\$ 9,700.00
4010.1	F&I 8" x 4" DI MJ tee	EA	2	Three Hundred Forty Dollars and No Cents	\$ 340.00	\$ 680.00
4010.2	F&I 8" x 6" DI MJ tee	EA	2	Three Hundred Seventy Dollars and No Cents	\$ 370.00	\$ 740.00
4010.3	F&i 8" x 8" DI MJ tee	EA	2	Four Hundred Ten Dollars and No Cents	\$ 410.00	\$ 820.00
4011	F&I 8" (x 12") DI MJ offset	EA	2	Six Hundred Dollars and No Cents	\$ 600.00	\$ 1,200.00
4012	F&I 12" D MJ plug or cap	EA	2	Two Hundred Fifty Dollars and No Cents	\$ 250.00	\$ 500.00
4013	F&I 12" DI MJ sleeve or reducer	EA	2	One Thousand Three Hundred Ninety Dollars and No Cents	\$ 1,390.00	\$ 2,780.00
4013.1	F&I 12" DI MJ 11.25°(or 22.5°) bend	EA	2	One Thousand Three Hundred Seventy Dollars and No Cents	\$ 1,370.00	\$ 2,740.00
4013.2	F&I 12" 45° DI MJ bend	EA	2	Ons Thousand Four Hundred Ten Dollars and No Cents	\$ 1,410.00	\$ 2,820.00
4013.3	F&I 12" 90° DI MJ bend	EA	2	One Thousand Four Hundred Seventy Dollars and No Cents	\$ 1,470.00	\$ 2,940.00
4014.1	F&I 12" x 4" (or 6") DI MJ tee	EA	2	Five Hundred Fifty Dollars and No Cents	\$ 550.00	\$ 1,100.00
4014.2	F&I 12" x 8" DI MJ tee	EA	2	Six Hundred Dollars and No Cents	\$ 600.00	\$ 1,200.00
4014.3	F&I 12" x 12" DI MJ tee	EA	2	Seven Hundred Ten Dollars and No Cents	\$ 710.00	\$ 1,420.00
4015	F&I 12" (x 12") DI MJ offset	EA	2	Seven Hundred Ninety Dollars and No Cents	s 790.00	\$ 1,580.00
4016	F&I 16" MJ DI MJ plug or cap	EA	2	Five Hundred Thirty Dollars and No Cents	\$ 530.00	\$ 1,060.00
4017	F&I 16" DI MJ sleeve or reducer	EA	2	One Thousand Six Hundred Thirty Dollars and No Cents	\$ 1,630.00	\$ 3,260.00
4017.1	F&I 16" DI MJ 11.25° bend	EA	2	One Thousand Six Hundred Ninety Dollars and No Cents	\$ 1,690.00	\$ 3,380.00
4017.2	F&I 16" 22.5" DI MJ bend	EA	5	One Thousand Six Hundred Sixty Dollars and No Cents	\$ 1,660.00	\$ 3,320.00
4017.3	F&I 16" 45° DI MJ bend	EA	2	One Thousand Six Hundred Ninety Dollars and No Cents	\$ 1,690.00	\$ 3,380,00
4017.4	F&I 16" 90° DI MJ bend	EA		One Thousand Nine Hundred Ten Dollars and No Cents	\$ 1,910.00	\$ 3,820.00
4017.4	ער זיט איז טרווויט טפווע	T CV		1	19 1.,0.0.00	[4] 3,020.00

item No.	Description	Unit	Approx. Quentity	Unit Price in Words		Unit Price		Total Computed Price
4018.1	F&I 16" x 4" (or 6") DI MJ tee	EA	2	Nine Hundred Dollars and No Cents	\$	900.00	s	1,800.00
4018.2	F&I 16" x 8" DI MJ tee	EA	2		_	960.00	S	1,920,00
4018.3	F&I 16" x 12" DI MJ tee	EA	2		\$	1,100,00	\$	2,220.00
4018.4	F&I 16" x 16" DI MJ tee	EA	2			1,410.00	\$	2,820.00
4019	F&I 16" (x 12") DI MJ offset	EA	2		-	2,640.00	\$	5,280.00
5000	F&I Fire Hydrant Assembly (valve, tee/tap, and Gradelok fitting paid separate)	ΕA	30	Seven Thousand Four Hundred Dollars and No Cents	\$	7,400.00	\$	222,000.00
5010	F&I 6" Gradelok fitting with FH installation	EA	4	Three Hundred Ten Dollars and No Cents	\$	310.00	\$	1,240.00
5011	F&I 12" Gradelok fitting with FH installation	EA	4	Five Hundred Thirty Dollars and No Cents	\$	530.00	\$	2,120.00
5012	F&I 24" Gradelok fitting with FH installation	EA	4	Six Hundred Seventy Dollars and No Cents	\$	670.00	\$	2,680.00
5101	Remove & salvage Fire Hydrant Assembly	EA	20	Six Hundred Thirty Dollars and No Cents	\$	630.00	\$	12,600.00
5300	F&I Protection Post	EA	2	Six Hundred Ten Dollars and No Cents	\$	610.00	\$	1,220.00
6000	F&I 2" gate or tapping valve with box	EA	2	One Thousand Dollars and No Cents	\$	1,000.00	\$	2,000.00
6001	F&I 4" gate or tapping valve with box	EA	2	One Thousand Forty Dollars and No Cents	\$	1,040.00	\$	2,080.00
6002	F&I 6" gate or tapping valve with box	EA	30	One Thousand Three Hundred Ninety Dollars and No Cents	\$	1,390.00	\$	41,700.00
6003	F&I 8" gate or tapping valve with box	EA	20	One Thousand Eight Hundred Sixty Dollars and No Cents	\$	1,860.00	\$	37,200.00
6004	F&I 10" gate or tapping valve with box	EA	2	Two Thousand Four Hundred Seventy Dollars and No Cents	\$	2,470.00	\$	4,940.00
6005	F&I 12" gate or tapping valve with box	EA	2	Three Thousand Five Hundred Seventy Dollars and No Cents	\$	3,570.00	\$	7,140.00
6006	F&I 16" gate or tapping valve with box	EA	2	Seven Thousand Four Hundred Fifty Dollars and No Cents	\$	7,450.00	\$	14,900.00
6020	F&I 16" butterfly valve with box	EA	2	Four Thousand One Hundred Seventy Dollars and No Cents	\$	4,170.00	\$	8,340.00
6080	F&I Valve Nut Extension	EA	4	Eighty Seven Dollars and No Cents	\$	87.00	\$	348.00
6200	F&I 2" or 2-1/2" Linestop on Water Main	EA	1	Three Thousand Seven Hundred Twenty Dollars and No Cents	\$	3,720.00	\$	3,720.00
6201	F&I 4" Linestop on Water Main	EA	1	Five Thousand Five Hundred Twenty Dollars and No Cents	\$	5,520.00	5	5,520.00
6203	F&I 6" Linestop on Water Main	EA	6	Seven Thousand Nine Hundred Seventy Dollars and No Centa	\$	7,970.00	\$	47,820.00
6205	F&I 8" Linestop on Water Main	EA	6	Eight Thousand Four Hundred Seventy Dollars and No Cents	5	8,470.00	\$	50,820.00
6207	F&I 10" Linestop on Water Main	EA	1	Twelve Thousand Seven Hundred Dollars and No Cents	\$	12,700.00	\$	12,700.00
6208	F&I 12"Linestop on Water Main	EA	4	Fourteen Thousand Eight Hundred Ninety Dollars and No Cents	\$	14,890.00	\$	59,560.00
6209	F&I 16" Linestop on Water Main	EA	4	Eighteen Thousand Three Hundred Eighty Five Dollars and No Ca		18,385.00	S	73,540.00
6210	F&I 24" Linestop on Water Main	EA	2	Twenty Five Thousand Six Hundred Twenty Dollars and No Cents	\$	25,620.00	\$	51,240.00
6211	F&I 30" Linestop on Water Main	EA	1	Thirty Eight Thousand Five Hundred Sixty Dollars and No Cents		38,560.00	\$	38,560.00
6212	F&I 36"Linestop on Water Main	EA	1	Fourty Four Thousand Eight Hundred Seventy Dollars and No Cer	3	44,870.00	\$	44,870.00
7001.0	F&I 4" MJ tapping sleeve and make tap	EA	1	One Thousand Eight Hundred Seventy Dollars and No Cents	\$	1,870.00	\$	1,870.00
7000.1	F&I 6" x 4" Steel tapping sleeve and make tap	EA	5	One Thousand Six Hundred Thirty Dollars and No Cents	\$	1,630.00	\$	8,150.00
7001.2	F&I 6" x 6" MJ tapping sleeve and make tap	EA	10		$\overline{}$	1,680.00	\$	16,800.00
7002.1	F&I 8" x 4" Steel tapping sleeve and make tap	EA	1		\$	1,800.00	\$	1,800.00
7002.2	F&I 8" x 6" Steet tapping sleeve and make tap	EA	10		\$	1,850.00	\$	18,500.00
7002.3	F&I 8" x 8" MJ tapping sleeve and make tap	EA	4	Two Thousand Six Hundred Ninety Dollars and No Cents	-	2,690.00	\$	10,760.00
7003.1	F&I 12" x 4" Steel tapping sleeve and make tap	EA	1	Two Thousand Three Hundred Fifty Dollars and No Cents	$\overline{}$	2,350.00	\$	2,350.00
7003.2	F&I 12" x 6" Steel tapping sleeve and make tap	EA	10	Two Thousand Four Hundred Fifty Dollars and No Cents		2,450.00	\$	24,500.00
7003.3	F&I 12" x 8" Steel tapping sleeve and make tap	EA	2		-	3,110.00	\$	6,220.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price		Total Computed Price
7003.4	F&I 12" x 12" MJ tapping sleeve and make tap	EA	1	Five Thousand Five Hundred Dollars and No Cents	s	5,500.00	s	5,500.00
7004.1	F&I 16" x (≤8") Steel tapping sleeve and make tap	EA	1	Five Thousand Eight Hundred Sixty Dollars and No Cents	\$	5,860.00	\$	5,860.00
7004.2	F&I 16" x 12" Steel tapping sleeve and make tap	EA	1	Six Thousand Four Hundred Forty Dollars and No Cents	S	6,440.00	\$	6,440.00
7004.3	F&I 16" x 16" MJ tapping sleeve and make tap	EA	1	Fourteen Thousand Nine Hundred Seventy Dollars and No Cents	\$	14,970.00	\$	14,970.00
8100	F&I 3/4" or 1" meter service (0-15')	EA	300	One Thousand Nine Hundred Dollars and No Cents	S	1,900.00	\$	570,000,00
8101	F&I 3/4" meter service (+15-80')	EA	300	Three Thousand One Hundred Dollars and No Cents	\$	3,100.00	\$	930,000.00
8102	F&I 3/4" meter service (+80-150')	EA.	10	Four Thousand Seven Hundred Sixty Dollars and No Cents	S	4,760.00	\$	47,600,00
8103	F&I 3/4" or 1" Dual meter service (0 - 15')	EA.	10	Two Thousand Six Hundred Fifteen Dollars and No Cents	5	2,615.00	\$	26,150.00
8104	F&I 3/4" or 1" Dual meter service (+15'-80')	EA.	10	Three Thousand Seven Hundred Seventy Dollars and No Cents	s	3,770.00	\$	37,700.00
8105	F&I 3/4" Dual meter service (+80'-150')	EA.	10	Four Thousand Three Hundred Dollars and No Cents	\$	4,300.00	\$	43,000.00
8106	F&I 1" Dual meter service (+80'-150')	EA.	10	Four Thousand Three Hundred Ninety Dollars and No Cents	S	4,390.00	\$	43,900.00
8107	F&I 1" or 1-1/2" meter service (+15'-80')	EA	10	Three Thousand Nine Hundred Seventy Five Dollars and No Cent	\$	3,975.00	\$	39,750.00
8108	F&I 1" or 1-1/2" meter service (+80'-150')	EA	10	Five Thousand Six Hundred Seventy Dollars and No Cents	\$	5,670.00	\$	56,700.00
8109	F&I 1-1/2" or 2" meter service (0-15')	EA	10	Three Thousand One Hundred Seventy Dollars and No Cents	5	3,170.00	\$	31,700.00
8110	F&I 2" DDCV and service (0-15')	EA	10	Five Thousand Twenty Dollars and No Cents	\$	5,020.00	\$	50,200.00
8300	Install city-provided 3" meter (slab or vault to be paid separate)	EA	5	Ten Thousand Eight Hundred Forty Dollars and No Cents	\$	10,840.00	\$	54,200.00
8301	Install city-provided 4" meter (slab or vault to be paid separate)	EA	5	Ten Thousand Four Hundred Forty Dollars and No Cents	\$	10,440.00	\$	52,200.00
8302	Install city-provided 6" meter (slab or vault to be paid separate)	EA	3	Thirteen Thousand Seventy Dollars and No Cents	\$	13,070.00	\$	39,210.00
8303	Install city-provided 8" meter (slab or vault to be paid separate)	EA	3	Nineteen Thousand Ninety Dollars and No Cents	\$	19,090.00	\$	57,270.00
8320	Install 4" double detector check valve assembly	EA	1	Five Thousand Seven Hundred Sixty Dollars and No Cents	\$	5,760.00	\$	5,760.00
8321	Install 6" double detector check valve assembly	EA	1	Seven Thousand Three Hundred Thirty Dollars and No Cents	\$	7,330.00	\$	7,330.00
8322	Install 8" double detector check valve assembly	EA	1	Ten Thousand Nine Hundred Dollars and No Cents	\$	10,900.00	\$	10,900.00
8323	Install 10" double detector check valve assembly	EA	1	Thirteen Thousand Nine Hundred Seventy Dollars and No Cents	1.0	13,970.00	П	13,970.00
8324	Install 12" double detector check valve assembly	EA	1	Twenty Seven Thousand Seven Hundred Thirty Dollars and No C	*	27,730.00	\$	27,730.00
8404	F&I auxiliary materials for above-ground large service w/ 12'x5' slab	EA	1	Two Thousand Five Hundred Eighty Dollars and No Cents	\$	2,580.00	\$	2,580.00
8405	F&I auxiliary materials for above-ground large service w/ 12'x9' slab	EA	1	Three Thousand Two Hundred Fifty Dollars and No Cents	\$	3,250.00	\$	3,250.00
9200	Furnish, place and compact limerock base	CY	50	Three Hundred Dollars and No Cents	\$	300.00	\$	15,000.00
9201	Furnish, place and compact crushed concrete base	CY	100	Three Hundred Dollars and No Cents	\$	300.00	\$	30,000.00
9202	Furnish and place approved flowable fill	CY	100	Four Hundred Dollars and No Cents	\$	400.00	\$	40,000.00
9203	Furnish, place and compact asphalt patch (Superpave Type SP 12.5 or Type SP 9.5 w/ < 8 SY or < 1.5 Tons)	SY-IN	500	One Hundred Thirty Dollars and No Cents	\$	130.00	\$	65,000.00
9205	Furnish, place and compact asphalt concrete base or surface course, (Superpave Type SP-12.5)	TN	50	One Thousand One Hundred Fifty Dollars and No Cents	\$	1,150.00	\$	57,500.00
9207	Furnish, place, grade and compact asphaltic concrete overlay (Superpave Type SP-9.5)	TN	50	One Thousand One Hundred Fifty Dollars and No Cents	\$	1,150.00	\$	57,500.00
9208	Mobilization to perform mechanical milling	EA	4	One Thousand One Hundred Fifty Dollars and No Cents	\$	1,150.00	\$	4,600.00
9209	Mechanical milling of asphalt roadways in 1-inch increments	SY-IN	1,000	Thirty Dollars and No Cents	\$	30.00	\$	30,000.00
9210	Restore 6" thick concrete driveway	SY	200	One Hundred Twenty Dollars and No Cents	\$	120.00	\$	24,000.00
9211	Restore brick pavement, including base material	SY	20	Two Hundred Dollars end No Cents	\$		\$	4,000.00
9212	Install Brick pavement furnished by City, Contractor F&I base material	SY	100	Two Hundred Dollars and No Cents	\$	200.00	\$	20,000.00

Item No.	Description	Unit	Approx. Quantity	Unit Price in Words		Unit Price	•	Total Computed Price
9250	Furnish materials & Install Signalization loops	EA	5	Two Thousand Twenty Dollars and No Cents	\$	2,020.00	\$	10,100,00
9300	Furnish and install Type "D" concrete curb	LF	100	<u> </u>	\$		\$	5,900,00
9301	Furnish and install valley curb	LF	20	<u> </u>	\$		\$	1.620.00
9302	Furnish and install Miami curb	LF	100	A - Company to the second of t	\$		\$	8,500.00
9303	Furnish and install Type "F" concrete curb	LF	100		\$		\$	8,600,00
9304	Furnish and install stone or precast curb	LF	20		\$		S	2,600,00
9305	Remove and install existing stone curb	LF	10	One Hundred Ten Dollars and No Cents	\$		\$	1,100.00
9306	Furnish and install asphaltic concrete curb	LF		Twenty Six Dollars and No Cents	\$		S	260.00
9307	Furnish and install 4" thick concrete sidewalk	SY	300		\$		\$	23,100.00
9308	Furnish and install paver block sidewalk or driveway	SY	50		\$		\$	15,000.00
9309	Grade and sod roadside/ditch bottoms and sides - Bahia	SY	1,000		\$		\$	6,300.00
9310	Grade and sod roadside/ditch bottoms & sides - St. Augustine	SY	1,000		\$		\$	7,600,00
9311	Grade, fertilize, sprig, and hydro-seed roadside	SY	50		\$		\$	1,700.00
9312	F&I detectable warnings on concrete walking surfaces	EA	6	Five Hundred Seventy Dollars and No Cents	\$		\$	3,420,00
9400	Grout abandoned pipe	CY	2	Nine Hundred Dollars and No Cents	S		\$	1.800.00
9410	Place and compact backfill soils	CY	2	One Hundred Dollars and No Cents	\$		\$	200.00
9411	Furnish, place and compact backfill soils	CY	2	One Hundred Fifty Dollars and No Cents	S		Š	300.00
9500	Furnish, form and place reinforced concrete	CY	2	Five Hundred Sixty Dollars and No Cents	\$		S	1,120.00
9504	Replace damaged but not marked sanitary laterals, w PVC	LF	50	Two Hundred Ten Dollars and No Cents	\$		\$	10,500.00
9505	Video photography	LF	100	Eighteen Dollars and No Cents	S		\$	1,800.00
9600	Demolish and Remove Large service vault	EA	1	Four Thousand One Hundred Ninety Dollars and No Cents	\$		s	4,190,00
9601	Demolish and Remove Large service concrete slab	EA	1	One Thousand Eighty Dollars and No Cents	\$	1,080.00	\$	1,080.00
9701	Excavation and removal of muck	CY	2	Ninety Three Oollars and No Cents	\$	93.00	\$	186.00
9801	Root Pruning	LF	20	Seven Dollars and Sixty Cents	\$		5	152.00
9900	Excavation exploratory pits (10'x10' x 5' deep)	EA	10	Five Hundred Dollars and no Cents	\$	500.00	\$	5,000.00
9920	F&I blow-off assembly w/valve & meter box, per Detail 2.16	EA	5	Two Thousand Dollars and No Cents	\$	2,000.00	\$	10,000.00
9921	F&I blow-off assembly w/valve & meter box, per Detail 2.17	EA	5	Four Thousand Three Hundred Ten Dollars and No Cents	\$	4,310.00	\$	21,550.00
9930	Furnish & install precast thrust blocks	EA	6	Sixty Dollars and No Cents	\$	60.00	\$	360.00
9931	Furnish, form & pour concrete thrust blocks	CY	1	Three Hundred Sixty Dollars and No Cents	\$	360.00	\$	360.00
9940	Cut into existing asbestos concrete pipe	EA	1	Three Thousand Five Hundred Ninety Dollars and No Cents	\$	3,590.00	\$	3,590.00
				Three Hundred Thousand Dollars and No	П			
9980	Contingency allowance - to be used by City	LS	1	Cents	\$	300,000.00	\$	300,000.00
		57000 4 600000	2000					
10000	Payment and Performance Bond Allowance	LS	1	Fifty Thousand Dollars and No Cents	\$	50,000.00	\$	50,000.00
	Maintenance of Traffic Allowance (3% of Work Order or			Three Hundred Fifty Thousand Dollars and				
11000	cost+markup)	LS	1 1	No Cents	\$	350,000.00	\$	350,000.00
				Five Million Six Hundred Fifty Five Thousand Four Hundred Ninety Dollars and No Cents		TOTAL		5,655,490.00



Good Faith Effort Compliance Plan Guidelines
for Women/Minority Business Enterprise\Small Local Business Enterprise Participation
City of Tampa - Equal Business Opportunity Program
(MBD Form 50 - detailed instructions on page 2 of 2)

			id Date	May 11, 2021
Bidd	der/Proposer Dallas 1 Corp. dba Dallas	1 Construction & Development		
Sign	nature		_ Date	May 11, 202
Nam	ne Israel Justice	Title Chief Estimator		
The (Compliance Plan with attachments is a true a ified for Women/Minority Business Enterpris	account of Good Faith Efforts (GFE) made to achieve the p ses/Small Local Business Enterprises (WMBE/SLBE) on th	participati e referen	on goals as ced contract:
⊠ Th subc	ne WMBE/SLBE participation <u>Goal is Met</u> contractors <u>solicited</u> and <u>all</u> subcontract	t or Exceeded. See DMI Forms 10 and 20 which acculors to-be-utilized.	rately re	port <u>all</u>
step: evalu	s already performed. Furthermore, it is u uation based on the veracity and demon (Check applicable boxes below	t Achieved. The following list is an overview of the baunderstood that these GFE requirements are weighte strable degree of documentation provided with the bay. Must enclose supporting documents accordingly with	d in the orid/proporemarks)	compliance sal:
(1)	solicit this interest within sufficient time to allow the WMBI	erest of WMBE/SLBEs that have the capability to perform the work of the cont E/SLBEs to respond. The Bidder or Proposer must take appropriate steps to s for subcontractors solicited. See enclosed suppleme	follow up initi	al solicitations with
(2)		ic scope information about the plans, specifications, and requirements of the cited-scope identified by bidder/proposer for the solicitation.		
(3)	addresses, and telephone numbers of WMBE/SLBEs that and specifications for the work selected for subcontracting costs involved in soliciting and using subcontractors is not are reasonable. Bidders are not required to accept exces DMI Utilized Forms for sub-(contractor/co	onsultant) reflect genuine negotiations	tion provided Es to performanticipation, a an RFQ/I	regarding the plans the work. Additional s long as such costs
(4)	membership in specific groups, organizations / association	justification based on a thorough investigation of their capabilities. The WMBE instant political or social affiliations are not legitimate causes for rejecting or nation for rejection of a subcontractor's bid or proposal.	ot soliciting t	ids to meet the goals.
(5)	WMBE/SLBE subcontractors and suppliers, so as to facilit	tractors and suppliers; and, segmented portions of the work or material consistitate meeting the goal. Sub-Contractors were allowed to bid o etermined portion. Gual	itent with the in their ov lifying Re	n choice of
(6)	to self-perform the work of a contract must demonstrate g	dder/Proposer to perform the work of a contract with its own forces/organizatio good faith efforts if the goal has not been met. □ Sub-Contractors <u>were</u> on work typically self-performed by the prime. □ Qualifying Re	not prohit	Proposer who desires bited from
(7)	breaking out contract work items into economically feasible prefer to perform these work items with its own forces.	BE/SLBEs in order to increase the likelihood that the goals will be met. This in the units (quantities/scale) to facilitate WMBE/SLBE participation, even when the Sub-Contractors were allowed to bid on their own choice Sub-Contractors were not prohibited from submitting bid by the prime. Gualifyin	ne Bidder/Pro e of work o ds/propos	poser might otherwise or trade without als and were
(8)		ing bonding, tines of credit, or insurance as required by the city or contractor, ves undertaken and methods to accomplish. □ Qualifying	ng Remari	(S:
(9)		ng necessary equipment, supplies, materials, or related assistance or services ed documentation of initiatives and/or agreements. □ Qua		
(10)	Effectively used the services of the City and other organiz See enclosed documentation. The following the city and other organizes The following the cit	zations that provide assistance in the recruitment and placement of WMBE/SLI llowing services were used:	BEs.	
Note:	Provide any unsolicited information that will sup	pport the Bid/RFP Compliance Evaluation. Named Docume	nts Are:	



Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Page 1 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All Solicited Sub-(Contractors/Consultants/Suppliers) (FORM MBD-10)

Contract No.: 21-C-00018	Contract Name: Cityw	ride Meter, Hydr	ant and Valve Installation and Replacement -FY2021
Company Name: Dallas 1 Corp.		_Address: 103	28 Main St., Thonotosassa, FL 33592
Federal ID: 59-2610376	Phone: 813-986-1922	Fax: 813-986-42	Email: israel.justice@d1cd.com
Check applicable box(es). Detaile [] No Firms were contacted or [] No Firms were contacted be [x] See attached list of addition Note: Form MBD-10 must list ALL	solicited for this contr cause: al Firms solicited and	ract. all supplement	al information (List must comply to this form)

NIGP Code Categories: Buildings = 909, General = 912, Heavy = 913, Trades = 914, Architects = 906, Engineers & Surveyors = 925, Supplier = 912-77

S = SLBE W=WMBE O = Neither Federal ID	Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am. HF HM = Hispanic AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	Trade or Services NIGP Code (listed above)	Contact Method L=Letter F=Fax E=Email P=Phone	Quote or Response Received Y/N
S & W	All Under utilized WMBE on attached list and SLBE attached list were sent a Solicitation Letter.	All listed	All list	L ed E	
O 59-3151668	866-588-8012;	СМ	Sod seed	E	quote
O 46-3169967	HDD of America, Inc.; 5975 94th Ave. N Pinellas Park, FL 33782; 727-544-3564; 727-544-1709 (fax); hddofamerica@gmail.c		Direction Bore	nal E	quote
O 81-4539713	Rangeline 7256 Westport Pt. Ste.A, West Palm Beach, 800-346-5971; 561-798-2113 fax brian@rangeline.com	FL CM	Line Stop	E	quote
O 59-3042773	Trans-Phos; PO Box 9004, Bartow, FL 33831 813-689-8686; 963-534-3200 cgoodson@transphos.com	СМ	Trucking	E	quote
O 59-2359657	Azzarelli Paving; 7825 Depot Lane, Tampa 33637; 813-985-9970; 813-985-9974 jay@azzpsd.com	FL CM	Paving	E	quote
O 03-0550887	Core and Main; 6525 N US Hwy 301, Tampa, FL 33610; 813-623-3343; 813-620-4154 kevin.priest@coreandmain.com	СМ	EZ Line Stop Supplier	E	quote

It is hereby certified that the information provided is an accurate and true account of contacts and solicitations for sub-contracting opportunities on this contract.

Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Forms must be included with Bid / Proposal

Name/Title: Israel Justice, Chief Estimator

Date: May 11, 2021

MBD 10 rev./effective 02/2016

Signed: _



Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Page 3 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All To-Be-Utilized Sub-(Contractors/Consultants/Suppliers) (FORM MBD-20)

	21-C-00018 Contract Name: Citywide Meter, me: Dallas 1 Corp. Address 59-2610376 Phone: 813-986-1922 Fax:	10328 Main St.,	Thonotosa		592
Mote: Form [] No Subco	able box(es). Detailed Instructions for completing this hed list of additional Firms Utilized and all supplemental MBD-20 must list ALL subcontractors To-Be-Utilized includent acting/consulting (of any kind) will be performed are listed to be utilized because:	mental information	n (List mus all businesse		o this form)
	Categories: Buildings = 909, General = 912, Heavy = 913, Trades = 914, nter "S" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises, "W" for firms Certified as Small Local Business Enterprises Ent				
S = SLBE W=WMBE O =Neither Federal ID	Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am HF HM = Hispanic Am. AF AM = Asian Am NF NM = Native Am CF CM = Caucasian	Trade, Services, or Materials NIGP Code Listed above	\$ Amount of Quote. Letter of Intent (LOt) if available	Percent of Scope or Contract %
W 65-0530148	Terrell Industries, Inc. 2067 lst Ave. N, Dt. Petersburg, FL 33 727-823-4424: 727-823-3977 gradyterrell@terrellindustires.com	713 BM	Pipe Supplie	\$1,302,3	95.83 23%
S 76-0821164	JNandIal Maintenance Services of Brand 3008 King Phillips Way, Seffner, FL 33 813-679-7769; 813-654-7676 fax JamesNandlal@msn.com	on, LLC	Brick Pavers	\$7,920.	.14∜
O 46-3169967	HDD of America 5975 94th Ave. N. Pinellas Park, FL 3 727-544-3564; 727-544-1709 (fax) hddofamerica@gmail.com	3782 _{CM}	Direction Drill	nal \$127,000	2.28
O 59-3151668	Creekside Nursery 16316 Bellamy Brothers Blvd., Dade Cit FL 33523 352-588-1078; 866-588-8012 f beth.troidl@creeksidenursery.net	y, CM ax	Sod Seed	\$9,405.	.17*
0	Rangeline 7856 Westport Pt., Ste A West Palm Beach, FL 33413; 800-346-5971 361-98-2113 brian@rangeline.com	СМ	Line Stops	\$129,230	2.35
W & S 27-2468473	Kerrick Williams Photography, LLC 5508 N. 50th St., Tampa, FL 33610 813-571-3768; 866-571-7149 kerrick@KWPC	BM onstructionvid	Video	\$78,506.	88 1.4%
0	Azzarelli Paving; 7825 Depot Lane, Tampa, FL 33605; 813-985-9970; 813-985 jay@azzpsd.com		Paving	\$128,000	2.3%
Total SLBE Ut Total WMBE U	ilization \$ 1,898,019.58 7,920.00 Itilization \$ 1,380,902.71 Utilization of Total Bid/Proposal Amt14 % Percen	(Kerrick Will			, consideration ,
Signed:	nied that the following information is a true and accurate account Name/Title: Israe Failure to Complete, Sign and Submit Both Forms 10 & 20 St	l Justice, Chief Est	imator	Date: ^{[V}	lay 11, 2021

Forms must be included with Bid / Proposal



Failure to Complete, Sign and Submit Both Forms 10 & 20 SHALL render the Bid or Proposal Non-Responsive

Page 3 of 4 – DMI Solicited/Utilized Schedules City of Tampa – Schedule of All To-Be-Utilized Sub-(Contractors/Consultants/Suppliers) (FORM MBD-20)

	21-C-00018 Contract Name: Citywide Meter, me: Dallas 1 Corp. Address 59-2610376 Phone: 813-986-1922 Fax: 813	10328 Main St.,	e Installatio , Thonotosa mail: ^{israel.ju}	ssa, FL 33	592
Check applica [>4 See attac Note: Form [] No Subco	able box(es). Detailed Instructions for completing this hed list of additional Firms Utilized and all supplementations To-Be-Utilized includent acting/consulting (of any kind) will be performed are listed to be utilized because:	form are on page nental informatio ling Non-minority/sm	4 of 4. n (List mus	st comply t	
	Categories: Buildings = 909, General = 912, Heavy = 913, Trades = 914, liter "S" for firms Certified as Small Local Business Enterprises, "W" for firms Cert			(Tarih)	
S = SLBE W=WMBE O = Neither Federal ID	Company Name Address Phone, Fax, Email	Type of Ownership (F=Female M=Male) BF BM = African Am. HF HM = Hispanic Am. AF AM = Asian Am. NF NM = Native Am. CF CM = Caucasian	Trade, Services, or Materials NIGP Code Listed above	S Amount of Quote. Letter of Intent (LOI) if available	Percent of Scope or Contract %
0	Trans-Phos; PO box 9004, Bartow, FL 33 813-689-8686; 863-534-3200	831 CM	Trucking	\$18,154.	78 .32%
59-3042773	cgoodson@transphos.com				
0	Core and Main; 6525 N US Hwy 301, Tampa, FL 33610; 813-623-3343; 813-620	-4154 _{CM}	E_Z Line Stop Sup	\$97,407.	09 1.7%
03550088	7 kevin.priest@coreandmain.com				
Total SLBE Ut Total WMBE U	contract / Supplier Utilization \$ 1,898,019.58 ilization \$ 7,920.00 Itilization \$ 1,380,902.71 Utilization of Total Bid/Proposal Amt14 % Percer	(Kerrick Wi			
1	ied that the following information is a true and accurate account				his Contract. May 11, 2021
Signed:	ailure to Complete, Sign and Submit Both Forms 10 & 20 St			Date	
	Forms must be included wit	h Bid / Proposal			

MBD 20 rev./effective 02/2016

TAMPA BID BOND

Contract 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021

KNOW ALL MEN BY THESE PRESENTS, that we, Dallas 1 Corporation dba Dallas 1

Construction & Development	
(hereinafter called the Principal) and Westfield I	nsurance Company
Ohio with its principal of business in the State of Florida, are held and firmly County, Florida, in the full and just sum of 5% of the States of America, to be paid upon demand of the	on chartered and existing under the laws of the State of fices in the City of Westfield Center, and authorized to do bound unto the City of Tampa, a Municipal Corporation of Hillsborough the amount of the (Bid) (Proposal) good and lawful money of the United City of Tampa, Florida, to which payment will and truly to be made we ors, successors, and assigns, jointly and severally and firmly these
	mit, or has submitted to the City of Tampa, Florida, a Proposal for the led Contract 21-C-00018, Citywide Meter, Hydrant and Valve Installation
WHEREAS, the Principal desires to file to otherwise required to accompany this Proposal.	his Bond in accordance with law, in lieu of a certified Bidder's check
shall, within twenty (20) days after the date of receil Proposal and upon the terms, conditions and price: Florida and execute a sufficient and satisfactory famount of one hundred percent (100%) of the total of Bid Bond obligation is to be void; otherwise to be an of the Principal to comply with any or all of the fore	this obligation are such that if the Proposal be accepted, the Principal pt of written Notice of Award, execute a contract in accordance with the set forth therein, in the form and manner required by the City of Tampa, Public Construction Bond payable to the City of Tampa, Florida in an contract price, in form and with security satisfactory to said City, then this ad remain in full force and virtue in law, and the Surety shall, upon failure agoing requirements within the time specified above, immediately pay to sof, in good and lawful money of the United States of America, not as a
IN TESTIMONY THEREOF, the Principal at 11th day of May 20 21.	nd Surety have caused these presents to be duly signed and sealed this
Principal	Dallas 1 Corporation dba Dallas 1 construction & Development
	TITLE President Westfield Insurance Company BY Mary Martha Langley, Attorney-in-Fact and TITLE Florida Licensed Resident Agent
(SEAL)	Mary Martha Langley Producing Agent
SEAL &	4211 W Boy Scout Blvd, Suite 800 Tampa, FL 33607 Producing Agent's Address
	Baldwin Krystyn Sherman Partners Name of Agency

The addition of such phrases as "not to exceed" or like import shall render the (Bid) (Proposal)non-responsive.

CERTIFIED COPY

POWER NO. 0997752 00

Westfield Insurance Co. Westfield National Insurance Co. Ohio Farmers Insurance Co.

Westfield Center, Ohio

Know All Men by These Presents. That WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, corporations, hereinafter referred to Individually as a "Company" and collectively as "Companies," duly organized and existing under the laws of the State of Ohio, and having its principal office in Westfield Center, Medina County, Ohio, do by these presents make, constitute and appoint RICHARD P. RUSSO, JR., TANYA L. RUSSO, FREDERIC M. ARCHERD, JR., MARY MARTHA LANGLEY, JOINTLY OR

SEVERALLY

of TAMPA and State of FL. Its true and lawful Attorney(s)-in-Fact, with full power and authority hereby conferred in its name, place and stead, to execute, acknowledge and deliver any and all bonds, recognizances, undertakings, or other instruments or contracts of

LIMITATION: THIS POWER OF ATTORNEY CANNOT BE USED TO EXECUTE NOTE GUARANTEE. MORTGAGE DEFICIENCY MORTGAGE GUARANTEE, OR BANK DEPOSITORY BONDS and to bind any of the Companies thereby as fully and to the same extent as if such bonds were signed by the President, sealed with the corporate seal of the applicable Company and duly attested by its Secretary, hereby ratifying and confirming all that the sald Attorney(s)-in-Fact may do in the premises. Said appointment is made under and by authority of the following resolution adopted by the Board of Directors of each of the WESTFIELD INSURANCE COMPANY. WESTFIELD INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY.

'Be It Resolved, that the President, any Senior Executive, any Secretary or any Fidelity & Surety Operations Executive or other Executive shall be and is hereby vested with full power and authority to appoint any one or more suitable persons as Attorney(s)-in-Fact to represent and act for

be and is hereby vested with full power and authority to appoint any one or more suitable persons as Attorney(s)-in-Fact to represent and act for and on behalf of the Company subject to the following provisions.

The Attorney-In-Fact, may be given full power and authority for and in the name of and on behalf of the Company, to execute, acknowledge and deliver, any and all bonds, recognizances, contracts, agreements of indemnity and other conditional or obligatory undertakings and any and all notices and documents canceling or terminating the Company's liability thereunder, and any such instruments so executed by any such Attorney-in-Fact shall be as binding upon the Company as if signed by the President and sealed and affested by the Corporate Secretary.

"Be it Further Resolved, that the signature of any such designated person and the seal of the Company heretofore or hereafter affixed to any power of attorney or any certificate relating thereto by facsimile, and any power of attorney or certificate bearing facsimile signatures or facsimile seal shall be valid and binding upon the Company with respect to any bond or undertaking to which it is attached." (Each adopted at a meeting held on February 8, 2000)

In Wilness Whereof, WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY have caused these presents to be signed by their National Surety Leader and Senior Executive and their corporate seals to be hereto affixed this 02nd day of JANUARY A D., 2020

Corporate Seals Affixed

55

55

State of Ohio County of Medina

N.NO. Treasure March

WESTFIELD INSURANCE COMPANY WESTFIELD NATIONAL INSURANCE COMPANY OHIO FARMERS INSURANCE COMPANY

Ву Gary W. Stumper, National Surety Leader and Senior Executive

On this 02nd day of JANUARY A.D., 2020, before me personally came Gary W. Stumper to me known who, being by me duly sworn, did depose and say, that he resides in Hartford, CT; that he is National Surety Leader and Senior Executive of WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, the companies described in and which executed the above instrument, that he knows the seals of said Companies, that the seals affixed to said instrument are such corporate seals, that they were so affixed by order of the Boards of Directors of said Companies, and that he signed his name thereto by like order

Notarial Seal Affixed

State of Obio County of Medina

David A. Kotnik, Attorney at Law, Notary Public My Commission Does Not Expire (Sec. 147.03 Ohio Revised Code)

I. Frank A. Carrino, Secretary of WESTFIELD INSURANCE COMPANY, WESTFIELD NATIONAL INSURANCE COMPANY and OHIO FARMERS INSURANCE COMPANY, do hereby certify that the above and foregoing is a true and correct copy of a Power of Attorney, executed by said Companies, which is still in full force and effect and furthermore, the resolutions of the Boards of Directors, set out in the Power of Attorney are

In Witness Whereof, I have hereunto set my hand and affixed the seals of said Companies at Westfield Center, Ohio, this 11 day of AD 2021







Frank A. Carrino, Secretary



Equal Business Opportunity Gregory K. Hart, Manager

306 East Jackson Street, 3N Tampa, Florida 33602

> Office (813) 274-5522 Fax: (813) 274-5544

DATE:

June 17, 2021

TO:

Michael Chucran, Director, Contract Administration Department

FROM:

Gregory K. Hart, Manager

RE:

EBO Bid Compliance Evaluation - GFECP Solicitation and Utilization Audit

PROJECT:

21-C-00018 Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021

3rd LOW BIDDER:

Dallas 1 Construction & Development

BID AMOUNT:

\$5,655,470.00

U-WMBE/SLBE Subcontract Goal: 13.0%
U-WMBE/SLBE Goal Attainment: 24.5%

Good Faith Effort Compliance:

Compliant-Met Requirements

The Equal Business Opportunity Office evaluated the Good Faith Effort Compliance Plan (GFECP) submitted by 3rd Low bidder Dallas 1 Construction & Development and determined they complied with the requirements of the Equal Business Opportunity Program (EBO) at time of bid by having performed meaningful action steps to (a) identify and (b) directly solicit Underutilized-WMBE and SLBE eligible companies to quote divisions of work commensurate with the participation goal. The project goal was narrowly-tailored on the basis of nine (9) out of twelve (12) subcontract categories wherein the requisite, eligible U-WMBE and SLBE companies represented a minimum availability group of sixty (60+) firms, within an overall availability group of one hundred (100+) available COT certified companies by subcontract tasks.

NOTE: The subcontract goal is narrowly tailored (per policy) to <u>target underutilization of affected groups in specific trade/industry categories.</u> Any WMBE/SLBE achievement that was not a variable in calculation of the narrowly tailored goal is considered ancillary. Ancillary participation cannot be credited toward meeting the narrowly tailored goal but may count toward the bidder's overall project participation when GFECP criteria for the underutilized group are met.

U-WMBE/SLBE Subcontract Goal Attainment

C-Wilderstade Subtout act Goal Attainment						
Certification Type	Classification	Classification	Totals			
U-WMBE / SLBE	BBE = 24.4%	SLBE = 0.14%	24.5%			

Ancillary Participation

Certification Type	Classification	Totals		
WMBE	-0-	-0-		

<u>Compliance Statement:</u> Total U-WMBE/SLBE participation is 24.5% representing 24.4% BBE (Black Business Enterprise) and 0.14% SLBE (Non-Minority Small Business).

Gregory Hart Gregory K. Hart, MPA, CPPA GKH:/RT

	tam	pagov	.net	***************************************	
--	-----	-------	------	---	--



Brad L. Baird, P.E.
Deputy Administrator of Infrastructure
107 North Franklin Street
Tampa, Florida 33602

Email: 8rad.Baird@tampagov.net Office (813) 274-7883

Date:

July 2, 2021

To:

The Honorable Orlando Gudes, Chairman, and Members of Tampa City Council

Through:

John Bennett, Chief of Staff

Through:

Jean W. Duncan, P.E., Administrator, Infrastructure and Mobility

From:

Brad L. Baird, P.E., Deputy Administrator of Infrastructure

Subject:

City Council Session on July 15, 2021, Under Staff Reports and Unfinished Business, SIRE Item ID #69452: A resolution accepting the proposals of Dallas 1 Corporation in the amount of \$5,655,470, RTD Construction, Inc. in the amount of \$4,710,072, and Kimmins Contracting Corp. in the amount of \$5,151,556 pertaining to Contract 21-C-00018; Citywide Meter, Hydrant and Valve Installation and Replacement - FY2021; authorizing the execution of the contract by the Mayor and the City of Tampa; providing an effective date.

This memorandum is to provide the following information regarding the above SIRE item.

- 1. Contract Title: 21-C-00018 Citywide Meter, Hydrant and Valve Installation and Replacement
- 2. Vendors: Dallas 1 Corporation, RTD Construction, Inc. and Kimmins Contracting Corp.
- 3. Purpose: Project provides for furnishing and installing miscellaneous water main appurtenances ranging in size from 2" to 16" in diameter at various locations throughout the City of Tampa water service area. Related work also includes concrete masonry, curbs and sidewalks, paving, landscaping, grouting, brick street construction and miscellaneous water maintenance. Work will be performed on a work order basis.
- 4. Equal Business Opportunity Statement:
 - a. RTD Construction, Inc. (1st bidder): Total U-WMBE/SLBE participation is 13% representing 9.87% BBE (Black Business Enterprise) and 3.18% HBE (Hispanic Business Enterprise).
 - b. Kimmins Contracting Corp. (2nd bidder): Total WMBE participation is 17.8% representing 16.8% BBE (Black Business Enterprise) and 1.0% WBE (Women Business Enterprise).
 - c. Dallas I Corporation (3rd bidder): Total U-WMBE/SLBE participation is 24.5% representing 24.4% BBE (Black Business Enterprise) and 0.14% SLBE (Non-Minority Small Business).
- 5. Fiscal Impact: This resolution provides funding for citywide water meter, hydrant, and valve installation and replacement, in the amount of \$15,517,098, from various funds and shall be controlled by requisition for use by the Water Department as needed.

Thank you.

cc: Dennis R. Rogero, Jr., Chief Financial Officer, Revenue and Finance Department Michael Perry, Budget Officer, Revenue and Finance Department Gina K Grimes, City Attorney, Legal Department Jan McLean, Senior Assistant City Attorney II, Legal Department Charles J. Weber, P.E., Director, Water Department Michael W. Chucran, P.E., Director, Contract Administration Department Gregory K. Spearman, Purchasing Director Gregory Hart, Manager, Equal Business Opportunity Division Martin Shelby, City Council Attorney Shirley Foxx-Knowles, City Clerk

tampagov.net -